uesu 1.9/5/2006-07

COLORADO STATE PUBLICATIONS LIBRARY

CSU Controlled Maintenance Request FY 06-07

(1) Agency	(2)	(3)		(5)	(6)	(7)	(8)	(9)	(10)
Agency Priority	Project M#	Project Title - Number of Phases	Total Project	Prior	FY 06/07	FY 07/08	FY 08/09	FY 09/10	FY 10/11
Number			Cost	Appropriation	Current Yr	Budget	Budget	Budget	Budget
	5009	Poplace Deterioreted Diverting the DI C 50			Request	Request	Request	Request	Request
	3009	Replace Deteriorated Plumbing Items - Ph 2 of 2	\$764,563		\$283,173				
		Replace Deteriorated Fire Alarms and Systems - 2 Phases	\$1,200,000		\$400,000	\$400,000	\$400,000		
		Replace Deteriorated Items, Wagar - 1 Phase	\$696,293		\$696,293				
		Replace Deteriorated Items, Forestry - 2 Phases	\$1,140,570		\$551,876	\$588,694			
		Replace Environmental Control System - 2 Phases	\$956,666		\$267,121	\$344,773	\$344,772		
		Replace Deteriorated Items, Music - 2 Phases	\$1,349,165		\$697,565	\$651,600			
		Replace Steam and Condensate, North Line - 3 Phases	\$1,975,777	\$0	\$490,415	\$678,664	\$806,698		
		Sanitary Sewer Improvements, Main Campus - 3 Phases	\$1,919,556	\$0	\$639,852	\$639,852	\$639,852		
		Replace Deteriorated Items, Military Science - 1 Phase	\$640,017	\$0	\$640,017				
		Replace Deteriorated Items, Shepardson Building - 3 Phases	\$1,999,999	\$0	\$608,702	\$820,942	\$570,355		
		Replace Deteriorated Items, Engineering Research Center - 3	\$1,000,000	ΨΟ	ψ000,702	\$020,542	\$570,333		
		Phases	\$1,858,746	\$0	\$619,582	\$619,582	\$619,582		
		Direct Digital Control Conversion - 1 Phase	\$483,750		\$0	\$483,750	\$019,502		
		Replace Deteriorated Fume Hood Controls, Chemistry - 2	Ψ100,700	ΨΟ	ΨΟ	\$405,750			
		Phases	\$1,002,962	\$0	\$0	\$501,481	\$501,481		
		Replace Deteriorated Steam/Condensate - Northwest Campus	ψ1,002,002	40	ΨΟ	\$301,461	\$501,461		
		- 2 Phases	\$1,100,000	\$0	\$0	\$550,000	\$550,000	,	
		Install Fire Alarm Systems, Code Compliance - 2 Phases	\$875,777		\$0	\$350,000	\$437,888	¢427 000	
		, , , , , , , , , , , , , , , , , , , ,	Ψ073,777	φΟ	40		\$437,000	\$437,889	
		Replace Deteriorating Items, Military Annex Building - 1 Phase	\$454,178	\$0	\$0	60	\$454 170		
		Replace Deteriorated Items, Visual Arts - 2 Phases	\$927,000		\$0	\$0 \$0	\$454,178	C4C2 F00	
		Replace Deteriorated Items, Guggenheim - 2 Phases	\$1,044,810		\$0	\$0	\$463,500	\$463,500	A100 5
		Replace Deteriorated Classroom Seating - 1 Phase	\$455,831	\$0	\$0	\$0		\$556,301	\$488,5
		Replace Deteriorated Refrigeration Units - 1 Phase	\$623,000		\$0	\$0	60	\$455,831	
	3234	Replace Deteriorated Items, San Juan Basin - 4 Phases	\$1,999,999		\$0		\$0	\$623,000	© C C C C C
		Replace Deteriorated Chillers with Cooling Loop Connection -	Ψ1,555,555	40	40	\$0	\$0	\$500,000	\$500,00
		1 Phase	\$400,000	\$0	90	60	60	6400,000	
		Replace Deteriorated Roads and Sidewalks - 3 Phases	\$887,044	\$0	\$0 \$0	\$0	\$0	\$400,000	0440.5
(10 to 10 to		Replace Deteriorated Items - Multiple Research Centers - 1	Ψ007,044	\$0	\$0	\$0	\$0	\$443,522	\$443,52
		Phase	\$555,400	\$0	60	00	00	0555 400	
		Utility long Range Plan, Electrical System Upgrades - 2	Ψ333,400	\$0	\$0	\$0	\$0	\$555,400	
		Phases	\$1,050,000	\$0	\$0	60	60	\$505,000	# 505.00
		Replace District Heating Plant Boiler No. 3 - 2 Phases	\$1,291,584	\$0	\$0	\$0	\$0	\$525,000	\$525,00
		Replace Mechanical and Electrical Systems, Engineering "E"	Ψ1,291,304	\$0	\$0	\$0	\$0	\$645,792	\$645,7
		Wing - 1 Phase	\$400,000	60	60	60	60		0.400.00
		Replace Deteriorated Air Handlers - 2 Phases	\$915,924	\$0	\$0	\$0	\$0		\$400,00
		Painter Center HVAC Improvements, 1 Phase	The state of the s	\$0	\$0	\$0	\$0	-	\$457,96
		Replace Condensate Line, West Oval to NESB - 1 Phase	\$330,405	\$0	\$0	\$0	\$0	\$0	\$330,4
		Replace Deteriorated Boilers, Veterinary Teaching Hospital - 1	\$475,000	\$0	\$0	\$0	\$0	\$0	\$475,00
		Phase	\$500,000	00	00	0.7			
		Replace Det. Items - Lake Street Greenhouse - 2 Phases	\$500,000	\$0	\$0	\$0	\$0	\$0	\$500,00
	400	Replace Det. Items - Weed Research - 2 Phases	\$904,232	\$0	\$0	\$0	\$0	\$0	\$452,1
			\$678,412		05.00 : 505	00.000			
		(11) Totals for each	n Fiscal Year	\$5,894,596	\$6,279,338	\$5,788,306	\$5,606,235	\$5,218,30

CM Project Status

9/12/2005

(1)	(2)	(3)	(4)	(5)	(6a)	(6b)	(7a)	(7b)	(8)	(9)	(10)
Project	Project Description, Phase	CCFE	Other	Date Funds Available	Funds Encumbered	Percent of Funds Encumbered		Percent Expended		Final SC	Comments/Status
M3020F	Replace Deteriorated Flooring, Painter Center, Ph 1 of 1	\$0	\$330,405	10/03	\$0	0%	\$0	0%	11/4	7/05	In Construction
M05009	Replace Deteriorated Plumbing Items, Ph 1 of 2	\$481,390	\$0	7/05							

(1)	(2)	(3)	(4)	(5)	(6a)	(6b)	(7a)	(7b)	(8)	(9)	
Project Number	Project Description, Phase	CCFE Appropriatio	Other Funds	Date Funds Available	Funds	Percent of Funds Encumbered	Funds Expended	Percent		Final SC	Comments/Status
P9909	Chemistry/Biological Sciences Instructional Laboratories Upgrades, Ph 2 of 3	\$7,051,475	\$0	7/00	\$7,051,475	100%	\$7,051,475	100%	8/02	N/A	Completed Phase
P0207	University Center for the Arts, Concert Hall, Ph 1 of 1	\$0	\$7,001,633	7/02	\$6,910,620	99%	\$6,717,782	96%	7/04	6/05-P	In Construction
P0303	Bioenvironmental Research Building Expansion, Ph 1 of 1	\$0	\$10,250,000	6/03	\$1,095,617	11%	\$567,889	6%	01/06	7/06-P	In Design
P0338	Hughes Stadium Expansion, Ph 1 of 1	\$0	\$12,949,517	7/04	\$3,769,825	27%	\$2,283,754	16%	9/05	7/06-P	In Construction
P0342	Regional Biocontainment Laboratory, Ph 1 of 1	\$0	\$23,961,000	7/04	\$1,306,262	6%	\$295,664	1%	12/07	7/08-P	In Design
P0407	Atmospheric Science Chemistry Addition, Ph 1 of 1	\$0	\$2,500,000	7/04	\$256,000	10%	\$135,335	5%	9/05	7/06-P	In Construction

CONTROLLED MAINTENANCE AGENCY'S BUILDING INVENTORY LIST - FY 2006/2007 STATE BUILDINGS AND REAL ESTATE PROGRAMS GENERAL FUNDED BUILDINGS

Colorado State University Gary L. Daggett 970-491-0153

Building Name	Risk	Building	Occ.	%	G.S.F.	Vacant	CostPerSF	C.R.V.	Date	Date	Audit	F.C.I.	Target	A/DET	T/DET
	No.	Number	Type	FUND		GSF			Built	Acq.	Date		FCI		
1500													21.00	2110 000	015.000
A.E.R.C. Annex	3522	1014	16	100	5,041		\$50.26	\$253,361	1980		2002	53.02	94.00	\$119,029	\$15,202
Adams Atkinson Arena	7330	1336	31	100	38,446		\$32.59	\$1,252,955	1984		2002	64.00	94.00	\$451,064	\$75,177
Administration	3258	0080	16	100	32,172		\$103.65	\$3,334,628	1924		2002	66.32	94.00	\$1,123,103	\$200,078
Administration	3890	4724	16	100	3,292		\$47.39	\$156,008	1938		2002	87.04	94.00	\$20,219	\$9,360
Administration	3924	4821	16	100	4,030		\$47.39	\$190,982	1921		2002	64.00	94.00	\$68,753	\$11,459
Administration Annex	3255	0077	16	100	43,145		\$90.70	\$3,913,252	1950		2002	88.03	94.00	\$468,416	\$234,795
Adobe Shed	5007	4614	31	100	1,440		\$18.50	\$26,640	1930		2002	48.00	90.00	\$13,853	\$2,664
Ag. Engr. Rsch. Ctr.	3523	1015	11	100	15,174		\$77.71	\$1,179,172	1939		2002	86.78	94.00	\$155,886	\$70,750
Alumni Center	3188	0001	16	100	4,690		\$103.35	\$484,712	1946		2002	69.00	94.00	\$150,261	\$29,083
Ammons Hall	3226	0050	16	100	24,467		\$108.34	\$2,650,755	1921		2002	88.80	94.00	\$296,885	\$159,045
Anatomy-Zoology	3337	0143	11	100	148,437		\$129.56	\$19,231,498	1973		2002	80.95	94.00	\$3,663,600	\$1,153,890
Andrew G. Clark	3276	0091	10	100	254,792		\$90.28	\$23,002,622	1967		2002	68.33	94.00	\$7,284,930	\$1,380,157
Anim. Diagnostic Lab	3887	4711	11	100	2,758		\$85.31	\$235,285	1973		2002	74.94	94.00	\$58,962	\$14,117
Animal Disease Lab	3652	1401	41	100	8,775		\$103.18	\$905,405	1960	O TO SERVICE	2002	85.00	94.00	\$135,811	\$54,324
Animal Disease Lab	3847	4604	11	100	2,293		\$61.62	\$141,295	1964		2002	86.23	94.00	\$19,456	\$8,478
Animal Holding Facility	3654	1411	31	100	2,368		\$55.38	\$131,140	1997		2002	48.00	94.00	\$68,193	\$7,868
Animal Quarters	3664	1415	31	100	2,167		\$90.28	\$195,637	1964		2002	58.00	94.00	\$82,167	\$11,738
Animal Quarters	3852	4613	31	100	273		\$33.15	\$9,050	1975		2002	48.00	90.00	\$4,706	\$905
Animal Reproduction & Biotechnology Lab	3653	1402	11	100	41,123		\$146.86	\$6,039,324	1964		2002	88.70	94.00	\$682,444	\$362,359
Animal Science Shop	3825	4053	31	100	2,560		\$27.12	\$69,427	1950		2002	74.00	94.00	\$18,051	\$4,166
Animal Sciences	3305	0110	11	100	40,412		\$116.08	\$4,691,025	1959		2002	57.55	94.00	\$1,991,340	\$281,461
Animal Shed	3629	1365	31	100	576	The state of	\$18.04	\$10,391	1974		2002	48.00	90.00	\$5,403	\$1,039
Animal Shelter	3465	0574	31	100	913		\$13.69	\$12,499	1985		2002	48.00	90.00	\$6,499	\$1,250
Animal Shelter	3466	0575	31	100	913		\$13.69	\$12,499	1985		2002	48.00	90.00	\$6,499	\$1,250
Animal Shelter	3467	0576	31	100	1,408		\$13.69	\$19,276	1985		2002	48.00	90.00	\$10,023	\$1,928
Animal Shelter	7323	0579	31	100	900		\$9.07	\$8,163	1993		2002	48.00	90.00	\$4,245	\$816
Animal Shelter	3965	4896	31	100	800		\$37.73	\$30,184	1986		2002	49.00	90.00	\$15,394	\$3,018
Animal Water Pump House	8843	4021	31	100	400		\$198.50	\$79,400	2000		2002	94.00	90.00	\$4,764	\$7,940
Aquatic Greenhouse	7324	1104	11	100	318		\$108.81	\$34,602	1993		2002	62.00	94.00	\$13,149	\$2,076
Arthropod-Borne & Infectious Disease Lab	3668	1421	11	100	14,329		\$103.64	\$1,485,058	1964		2002	72.56	94.00	\$407,500	\$89,103
Athletic Storage	3210	0028	15	100	536		\$9.46	\$5,071	1982		2002	48.00	90.00	\$2,637	\$507
Atmos. Science Annex	3576	1121	11	100	4,984		\$90.28	\$449,956	1967		2002	86.47	94.00	\$60,879	\$26,997
Atmos. Simulation	3518	1007	11	100	10,260		\$180.55	\$1,852,443	1968		2002	87.26	94.00	\$236,001	\$111,147
Atmospheric Science	3575	1120	11	100	37.079		\$103.18	\$3,825,811	1967		2002	72.29	94.00	\$1,060,132	\$229,549
Auditorium Gymnasium	3209	0027	15	100	272,354		\$103.65	\$28,229,492	1966		2002	69.39	94.00	\$8,641,048	\$1,693,770
Avlesworth Hall	3209	0021	10	100	86,723		\$90.28	\$7,829,352	1956		2002	61.23	94.00	\$3,035,440	\$469,761
Bam	3859	4627	31	100	1,031		\$28.46	\$29,342	1920		2002	27.36	90.00	\$21,314	\$2,934
Bam	3888	4721	31	100	2,063		\$28.46	\$58,713	1940		2002	77.83	90.00	\$13,017	\$5,871
Bam	3888	4742	31	100	957		\$28.46	\$27,236	1939		2002	48.00	90.00	\$14,163	\$2,724
Baseball Dugouts		0026	15	100	528		\$46.43	\$24,515	1960		2002	48.00	90.00	\$12,748	\$2,452
Baseball Scorers Box	3208 3206	0026	15	100	128		\$37.07	\$4,745	1984		2002	48.00	90.00	\$2,467	\$474

Blockhouse	3605	1305	31	100	1,080	\$128.99	\$139,309	1964	2002	48.00	94.00	\$72,441	\$8,359
Book Storage Fclty.	3329	0137	29	100	28,000	\$21.50	\$602,000	1985	2002	88.39	94.00	\$69,892	\$36,120
Boxcar	8007	2428	31	100	596	\$20.36	\$12,135	1988	2002	48.00	90.00	\$6,310	\$1,213
BSL-3	8822	1424	11	100	12,000	\$536.37	\$6,436,440	2000	2002	97.00	94.00	\$193,093	\$386,186
Bulk/Soil Storage	7189	4061	31	100	10,800	\$14.00	\$151,200	1992	2002	92.00	90.00	\$12,096	\$15,120
Bull Barn	3946	4849	31	100	6,830	\$28.46	\$194,382	1935	2002	48.00	90.00	\$101,079	\$19,438
Bunkhouse	3862	4630	31	100	1,987	\$47.39	\$94,164	1910	2002	58.00	94.00	\$39,549	\$5,650
Bunkhouse	3891	4725	31	100	400	\$47.39	\$18,956	1940	2002	77.60	94.00	\$4,246	\$1,137
Bus Garage	3928	4826	30	100	4,000	\$51.41	\$205,640	1998	2002	54.00	90.00	\$94,594	\$20,564
Cabin	3761	3022	52	100	460	\$57.27	\$26,344	1972	2002	48.00	94.00	\$13,699	
Calf Shed	3948	4851	31	100	480	\$28.46	\$13.661	1920	2002	48.00	90.00	\$7,104	\$1,581
Calving Shed	3854	4622	31	100	2,400	\$28.46	\$68,304	1920	2002	76.92	90.00	\$15,765	\$1,366
Canine/Raptor	3446	0556	41	100	3,632	\$186.30	\$676,642	1981	2002	83.13			\$6,830
Cattle Barn	3597	1173	31	100	3,135	\$18.03	\$56,524	1928	2002	58.00	94.00	\$114,149	\$40,598
Cattle Barn	8005	2423	31	100	1,742	\$45.84	\$79,853	1988	2002			\$23,740	\$5,652
Cattle Chute	8012	2433	31	100	341	\$6.73				48.00	90.00	\$41,524	\$7,985
Cattle Processing	3666	1417	31	100	288		\$2,295	1988	2002	48.00	90.00	\$1,193	\$229
Cattle Shed	3944	4847	31	100	8,900	\$15.71	\$4,524	1981	2002	58.00	90.00	\$1,900	\$452
Cattle Shed	3954	4861	31	100	512	\$28.46	\$253,294	1920	2002	48.00	90.00	\$131,713	\$25,329
Cattle Shed	3955	4862	31	_		\$28.46	\$14,572	1960	2002	48.00	90.00	\$7,577	\$1,457
Cattle Shed	3956	4863		100	420	\$28.46	\$11,953	1960	2002	48.00	90.00	\$6,216	\$1,195
Center for Envir Toxicolgy & Technology			31	100	360	\$28.46	\$10,246	1960	2002	48.00	90.00	\$5,328	\$1,025
Central Mix/Diet Prep	3669	1422	11	100	14,676	\$103.64	\$1,521,021	1966	2002	66.41	94.00	\$510,911	\$91,261
Central Rec. Storage	8846	4024	31	100	2,500	\$105.59	\$263,975	2000	2002	94.00	90.00	\$15,839	\$26,398
Central Rec. Storage	3324	0132	30	100	5,245	\$25.82	\$135,426	1927	2002	65.20	90.00	\$47,128	\$13,543
Central Receiving	3328	0136	30	100	4,042	\$14.18	\$57,316	1975	2002	77.77	90.00	\$12,741	\$5,732
Chemical Storage	3322	0131	30	100	15,675	\$77.38	\$1,212,932	1967	2002	83.42	94.00	\$201,104	\$72,776
Chemical Storage Unit	7171	4610	31	100	240	\$25.54	\$6,130	1991	2002	48.00	90.00	\$3,187	\$613
Chemistry	7935	0135	31	100	144	\$328.39	\$47,288	1998	2002	64.00	90.00	\$17,024	\$4,729
Chemistry/Biosciences Hall	3339	0150	11	100	168,037	\$154.76	\$26,005,406	1971	2002	73.22	94.00	\$6,964,248	\$1,560,324
Chilled Water Plant	-	0145	11	100	87,841	\$185.10	\$16,259,369	2002	2002	100.00	94.00	\$0	\$975,562
Chip Storage	8830	0069	30	100	8,200	\$105.59	\$865,838	1999	2002	97.00	94.00	\$25,975	\$51,950
Coal Shed	3553	1069	31	100	823	\$6.37	\$5,243	1982	2002	48.00	90.00	\$2,726	\$524
Coll. Lake Pump Stat	8009	2430	31	100	77	\$7.44	\$573	1988	2002	48.00	90.00	\$298	\$57
College Avenue Gym	7170	1461	30	100	414	\$129.71	\$53,700	1955	2002	58.00	90.00	\$22,554	\$5,370
Computer Cent. Annex	3250	0073	15	100	58,862	\$106.33	\$6,258,796	1924	2002	91.49	94.00	\$532,624	\$375,528
Conference Center	3220	0042	11	100	800	\$25.82	\$20,656	1963	2002	58.00	90.00	\$8,676	\$2,066
	8824	4010	29	100	11,600	\$82.02	\$951,432	2000	2002	94.00	94.00	\$57,086	\$57,086
Coop Institute for Research in the Atmos Cooperative Units	3573	1119	11	100	12,743	\$115.06	\$1,466,210	1981	2002	84.86	94.00	\$221,984	\$87,973
	3248	0071	10	100	6,103	\$92.58	\$565,016	1930	2002	84.36	94.00	\$88,368	\$33,901
Covered Bale Hay Shed	8827	4013	31	100	3,750	\$16.89	\$63,338	2000	2002	94.00	90.00	\$3,800	\$6,334
Cow/Calf Unit	8826	4012	31	100	3,968	\$47.89	\$190,028	2000	2002	94.00	90.00	\$11,402	\$19,003
CSFS - Boulder Office		6131	16	100	1,867	\$202.69	\$378,422	2001	2002	95.00	94.00	\$18,921	\$22,705
CSFS - Boulder Shop		6132	31	100	1,573	\$17.00	\$26,741	2001	2002	95.00	94.00	\$1,337	\$1,604
CSFS - Woodland Office - #1	7184	7183	16	100	609	\$50.33	\$30,651	1971	2002	48.00	94.00	\$15,939	\$1,839
CSFS - Woodland/Storage	3993	7182	31	100	2,304	\$15.47	\$35,643	1978	2002	48.00	90.00	\$18,534	\$3,564
CSFS Ft Morgan/Offc.	5144	6863	16	OTHER	2,607	\$89.05	\$232,153	1967	2002	64.00	94.00	\$83,575	\$13,929
CSFS Pumphouse	3679	1458	31	100	64	\$34.32	\$2,196	1975	2002	48.00	90.00	\$1,142	\$220
CSFS Woodland Main Office	5145	7184	16	100	1,848	\$124.97	\$230,945	1995	2002	63.00	94.00	\$85,449	\$13,857
CSFS-Alamosa/Shop	3977	6021	31	100	2,000	\$15.47	\$30,940	1978	2002	63.00	94.00	\$11,448	\$1,856
CSFS-Canon City/Off.	3980	6421	16	100	1,440	\$127.01	\$182,894	1978	2002	85.60	94.00	\$26,337	\$10,974
CSFS-Canon City/Stor	3981	6422	31	100	2,400	\$15.47	\$37,128	1978	2002	94.79	90.00	\$1,934	\$3,713
CSFS-Durango/Office	5203	6664	16	100	1,821	\$134.92	\$245,689	1999	2002	63.00	94.00	\$90,905	\$14,741
CSFS-Durango/Storage	3985	6662	31	100	2,000	\$16.11	\$32,220	1978	2002	48.00	90.00	\$16,754	\$3,222

CSFS-Franktown Office/Garage	7939	6341	16	100	3,540		28.75	\$101,775	1963		2002	78.22	94.00	\$22,167	\$6,107
CSFS-Golden/Dist Off	3877	4651	16	100	2,562		14.74	\$114,624	1980		2002	60.52	94.00	\$45,254	\$6,877
CSFS-Golden/Field Building	5189	4655	31	100	633	\$2	27.95	\$17,692	1999	2	2002	58.00	90.00	\$7,431	\$1,769
CSFS-Golden/Quonset	3878	4652	31	100	4,141	\$2	25.16	\$104,188	1976	2	2002	88.14	90.00	\$12,357	\$10,419
CSFS-Golden/Storage	3880	4654	31	100	1,071	\$2	27.95	\$29,934	1982	2	2002	91.09	90.00	\$2,667	\$2,993
CSFS-Golden/Trailer	3879	4653	31	100	1,525	\$2	20.97	\$31,979	1980	2	2002	64.61	94.00	\$11,317	\$1,919
CSFS-La Veta/Office	3982	6541	16	100	775	\$1	16.11	\$12,485	1978	2	2002	72.89	94.00	\$3,385	\$749
CSFS-La Veta/Storage	3983	6542	31	100	720	\$1	15.47	\$11,138	1978	2	2002	93.02	90.00	\$777	\$1,114
Dairy Barn	3940	4843	31	100	5,825	\$2	28.46	\$165,780	1895	2	2002	48.00	90.00	\$86,205	\$16,578
Dairy Center	3448	0557	31	100	91,157	\$3	35.77	\$3,260,686	1981	2	2002	75.47	94.00	\$799,846	\$195,641
Danforth Chapel	3227	0051	20	100	1,059	\$51	15.87	\$546,306	1954	2	2002	71.72	94.00	\$154,495	\$32,778
Digester Building	3460	0569	31	100	2,990	\$5	58.70	\$175,513	1983	2	2002	48.00	90.00	\$91,267	\$17,551
Dog Colony	3430	406	11	100	3,578	\$12	23.37	\$441,418	1962	2	2002	63.02	94.00	\$163,236	\$26,485
Dog Holding Facility	5001	1430	11	100	2,380	\$12	20.75	\$287,385	1988	2	2002	79.00	94.00	\$60,351	\$17,243
Dormitory	3832	4103	50	100	1,042		77.38	\$80,630	1969	2	2002	64.00	94.00	\$29,027	\$4,838
Drying Shed	3688	2012	31	100	7,530		51.61	\$388,623	1961	2	2002	48.00	90.00	\$202,084	\$38,862
Dwelling 12	3931	4831	52	100	1,581		17.39	\$74,924	1920	2	2002	58.00	94.00	\$31,468	\$4,495
East Garages	3317	0126	30	100	3,572		5.46	\$55,223	1927	2	2002	48.00	90.00	\$28,716	\$5,522
East Valve House	7168	1142	11	100	280		73.56	\$20,597	1991		2002	48.00	90.00	\$10,710	\$2,060
Education	3309	0114	10	100	40,931		03.18	\$4,223,261	1964		2002	82.80	94.00	\$726,401	\$253,396
ELC Visitor Center	0000	2501	16	100	9,353	\$1,05		\$9,875,365	2000		2002	99.00	94.00	\$98,754	\$592,522
Electric Shop	3318	0127	30	100	2,088		34.78	\$135,261	1957		2002	48.00	94.00	\$70,336	\$8,116
Electrical Storage Shed	5128	0580	31	100	392		25.82	\$10,121	1975		2002	48.00	90.00	\$5,263	\$1,012
Engineer.Res.Valvehs	3591	1137	11	100	168		5.52	\$2,607	1974		2002	48.00	90.00	\$1,356	\$261
Engineer.Res.Valvehs	3592	1138	11	100	217		0.18	\$2,209	1974		2002	48.00	90.00	\$1,149	\$221
Engineer.Res.Valvehs	3593	1139	11	100	242		0.18	\$2,464	1967		2002	48.00	90.00	\$1,281	\$246
Engineering	3217	0041	12	100	211,410		18.45	\$88,464,515	1957		2002	91.19	94.00	\$7,793,724	\$5,307,871
Engineering South/Glover	3269	0041	12	100	52,823		2.15	\$7,508,789	1950		2002	88.20	94.00	\$886,037	\$450,527
Engr. Renewal+Growth	3516	1005	11	100	1,551		64.48	\$100,008	1941		2002	63.00	94.00	\$37,003	\$6,001
Engr. Res. Center	3557	1101	12	100	149,915		28.99	\$19,337,536	1962		2002	71.78	94.00	\$5,457,053	\$1,160,252
Entomology Lab/Gmhs	3848	4605	11	100	2,127		66.84	\$120,899	1966		2002	88.76	94.00	\$13,589	\$7,254
Environmental Health	3332	0141	11	100	18,173		3.18	\$1,875,090	1970		2002	73.56	94.00	\$495,774	\$112,505
Equine Center	3614	1330	31	100	95,154		7.08	\$5,431,390	1994		2002	80.51	94.00	\$1,058,578	\$325,883
Erc Publication Trlr		1117	16	100	720		6.02	\$11,534	1982		2002	48.00	94.00	\$5,998	\$692
Explosives Storage	3571 3527	1040	31	100	58		09.63	\$6,359	1975		2002	48.00	90.00	\$3,306	\$636
Explosives Storage	3528	1040	31	100	37		9.63	\$4,056	1975		2002	48.00	90.00	\$2,109	\$406
Explosives Storage	3529	1041	31	100	58		9.63	\$6,359	1975		2002	48.00	90.00	\$3,306	\$636
Facilities Maint.		1042	30		6,004			\$464,590	1940		2002	63.00	94.00	\$171,898	\$27,875
Facilities Storage	3517 3320	0129	30	100	9,249		77.38	\$238,809	1027		2002	48.00	90.00	\$124,181	\$23,881
							25.82		1957		2002	77.49	94.00	\$621,923	\$165,772
Facilities Svc-North	3294	0104	16	100	30,600		00.29	\$2,762,874			2002	74.02	94.00	\$245,140	\$56,614
Facilities Svc-South	3315	0125	30	100	12,194		77.38	\$943,572	1957 1920		2002	48.00	94.00	\$29,570	\$3,412
Farm Shop	3941	4844	31	100	1,500		37.91	\$56,865						\$3,168	\$5,280
Feed Storage	8832	4030	31	100	4,000		3.20	\$52,800	2000		2002	94.00	90.00	\$18,327	\$3,524
Feed Storage	3858	4626	31	100	1,261		7.95	\$35,245	1983						\$21,120
Feedlot Units	8845	4023	31	100	40,000		55.28	\$211,200	2000		2002	94.00	90.00	\$12,672	\$21,120
Fertilizer Storage	7190	4062	31	100	800		35.59	\$28,472	1992		2002	92.00	90.00	\$2,278	
Fire Trucks	3535	1056	30	100	5,357		21.93	\$117,479	1974		2002	48.00	90.00	\$61,089	\$11,748
Fisheries Maint.	3620	1354	31	100	3,829		18.58	\$186,013	1976		2002	54.00	90.00	\$85,566	\$18,601
Flammable Liquids	3286	0099	30	100	160		73.53	\$11,765	1977		2002	68.00	90.00	\$3,765	\$1,176
Foaling Barn	3636	1386	31	100	586		25.82	\$15,131	1961		2002	58.00	90.00	\$6,355	\$1,513
Food Preparation	3667	1420	41	100	2,200		38.70	\$85,140	1968		2002	85.12	94.00	\$12,669	\$5,108
Forestry	3260	0081	10	100	27,046		03.18	\$2,790,606	1937		2002	50.32	94.00	\$1,386,373	\$167,436
Foundation Seed Proc	3687	2011	31	100	2,482	\$5	51.61	\$128,096	1959	2	2002	48.00	94.00	\$66,610	\$7,686

Foundation/Seed Shop		4058	31	100	8,726	\$32.79	\$286,126	1992	2002	85.00	94.00	\$42,919	\$17,168
Garage	3552	1068	31	100	1,185	\$21.01	\$24,897	1977	2002	58.00	94.00	\$10,457	\$1,494
Garage	3864	4632	31	100	436	\$37.91	\$16,529	1940	2002	67.31	90.00	\$5,403	
Garage	3916	4788	31	100	1,898	\$37.91	\$71,953	1952	2002	82.06	90.00	\$12,908	\$1,650 \$7,196
Garage	3938	4840	31	100	3,519	\$37.91	\$133,405	1920	2002	48.00	90.00	\$69,371	\$13,34
Garage	3969	4905	31	100	513	\$37.91	\$19,448	1920	2002	48.00	90.00	\$10,113	
Garage/Onion Drying	3971	4907	31	100	3,866	\$37.91	\$146,560	1948	2002	48.00	90.00		\$1,945 \$14,656
Gas And Oil Building	3939	4841	31	100	240	\$37.91	\$9,098	1920	2002	48.00	90.00	\$76,211 \$4,731	
Gas House	3920	4793	31	100	204	\$37.91	\$7,734	1952	2002	85.12	90.00	\$1,151	\$910
General Processing	7195	4054	31	100	24,771	\$45.79	\$1,134,264	1992	2002	93.00	94.00	\$79,398	\$773 \$68,056
Gifford	3343	0152	10	100	92,278	\$87.08	\$8,035,568	1975	2002	73.61	94.00		
Grain Bin	3462	0571	31	100	257	\$14.74	\$3,788	1984	2002	48.00	90.00	\$2,120,586	\$482,134
Grain Bin	3463	0572	31	100	257	\$14.74	\$3,788	1984	2002	48.00	90.00	\$1,970	\$379
Grain Bin	3464	0573	31	100	257	\$14.74	\$3,788	1984	2002			\$1,970	\$379
Grain Bin	8847	4025	31	100	128	\$132.60	\$16,973	2000	2002	48.00	90.00	\$1,970	\$379
Grain Bin	8847	4026	31	100	128	\$132.60	\$16,973	2000	2002	94.00	90.00	\$1,018	\$1,697
Grain Bin		4032	31	100	42	\$192.14				94.00	90.00	\$1,018	\$1,697
Grain Bin		4033	31	100	42	\$192.14	\$8,070 \$8,070	2000	2002	94.00	90.00	\$484	\$807
Grain Bin		4034	31	100	21	\$92.07				94.00	90.00	\$484	\$807
Grain Bin	3823	4051	31	100	284		\$1,933	2000	2002	94.00	90.00	\$116	\$193
Grain Bin	0020	4052	31	100	540	\$69.78	\$19,818	1950	2002	73.00	90.00	\$5,351	\$1,982
Grain Bin		4057	31	100	314	\$111.24	\$60,070	2000	2002	48.00	90.00	\$31,236	\$6,007
Grain Bin	5180	4066	31	100	314	\$38.22	\$12,001	2000	2002	95.00	90.00	\$600	\$1,200
Grain Bin	5181	4067	31	100		\$192.14	\$73,782	2000	2002	95.00	90.00	\$3,689	\$7,378
Grain Bin	5182	4068	31		200	\$364.05	\$72,810	2000	2002	95.00	90.00	\$3,641	\$7,281
Grain Bin	3894	4729	31	100	228	\$91.01	\$20,750	2000	2002	95.00	90.00	\$1,038	\$2,075
Grain Bin	7182	4729	31		154	\$37.91	\$5,838	1940	2002	48.00	90.00	\$3,036	\$584
Grain Bin	7178	4731	31	100	154	\$13.93	\$2,145	1991	2002	49.00	90.00	\$1,094	\$215
Grain Bin	3921	4794	31		154	\$13.93	\$2,145	1991	2002	48.00	90.00	\$1,116	\$215
Grain Bin	3922	4794	31	100	254	\$37.91	\$9,629	1960	2002	48.00	90.00	\$5,007	\$963
Grain Bin	3922			100	154	\$37.91	\$5,838	1960	2002	48.00	90.00	\$3,036	\$584
Grain Storage	3626	4796	31	100	154	\$37.91	\$5,838	1960	2002	48.00	90.00	\$3,036	\$584
Grain Storage	3855	1362 4623	31	100	1,839	\$18.04	\$33,176	1964	2002	48.00	90.00	\$17,251	\$3,318
Grain Storage	3856			100	133	\$27.95	\$3,717	1983	2002	48.00	90.00	\$1,933	\$372
Granary		4624	31	100	133	\$27.95	\$3,717	1983	2002	48.00	90.00	\$1,933	\$372
Green Hall	3947 3197	4850	31	100	3,000	\$37.91	\$113,730	1895	2002	48.00	90.00	\$59,140	\$11,373
Greenhouse	3348	0013	16	100	20,802	\$90.28	\$1,878,005	1953	2002	83.00	94.00	\$319,261	\$112,680
Greenhouse	3356	0184	11	100	960	\$12.91	\$12,394	1976	2002	48.00	94.00	\$6,445	\$744
Greenhouse		0193	11	100	1,105	\$64.49	\$71,261	1960	2002	38.00	94.00	\$44,182	\$4,276
Greenhouse	3361	0197	11	100	960	\$12.91	\$12,394	1976	2002	48.00	94.00	\$6,445	\$744
Greenhouse	3362	0198	11	100	960	\$12.91	\$12,394	1976	2002	48.00	94.00	\$6,445	\$744
Greenhouse	3884	4704	31	100	1,467	\$37.91	\$55,614	1977	2002	87.39	94.00	\$7,013	\$3,337
Greenhouse	3903	4748	11	100	1,205	\$37.91	\$45,682	1962	2002	76.85	94.00	\$10,575	\$2,741
	3961	4892	11	100	1,000	\$37.91	\$37,910	1969	2002	84.70	94.00	\$5,800	\$2,275
Greenhouse No. 6	3354	0191	11	100	264	\$38.69	\$10,214	1971	2002	38.00	94.00	\$6,333	\$613
Greenhouse No. 7	3355	0192	11	100	264	\$38.69	\$10,214	1971	2002	38.00	94.00	\$6,333	\$613
Greenhouse/Headhouse	7325	4791	11	100	10,027	\$21.48	\$215,380	1993	2002	64.00	94.00	\$77,537	\$12,923
Ground Storage	5127	0425	31	100	634	\$11.78	\$7,469	1995	2002	48.00	90.00	\$3,884	\$747
Guggenheim Hall	3228	0055	10	100	16,735	\$90.28	\$1,510,836	1910	2002	46.73	94.00	\$804,822	\$90,650
Hay Barn	3950	4857	31	100	2,560	\$32.39	\$82,918	1980	2002	48.00	90.00	\$43,118	\$8,292
Hay Barn	8831	4884	31	100	5,615	\$3.48	\$19,540	2000	2002	95.00	90.00	\$977	\$1,954
Hay Feed Bunker	8841	4028	31	100	2,119	\$4.22	\$8,942	2000	2002	94.00	90.00	\$537	\$894
Hay Feed Bunker	8840	4029	31	100	6,000	\$4.22	\$25,320	2000	2002	94.00	90.00	\$1,519	\$2,532
Hay Shed	3456	0565	31	100	3,684	\$29.76	\$109,636	1957	2002	48.00	90.00	\$57,011	\$10,964

Hay Shed	3457	0566	31	100	3,684	\$25.82	\$95,121	1957	2002	48.00	90.00	\$49,463	\$9,512
Hay Shed	3458	0567	31	100	8,500	\$11.42	\$97,070	1981	2002	48.00	90.00	\$50,476	\$9,707
Hay Shed	3459	0568	31	100	8,500	\$11.42	\$97,070	1981	2002	48.00	90.00	\$50,476	\$9,707
Hay Shed	7938	1450	31	100	12,000	\$7.36	\$88,320	1998	2002	48.00	90.00	\$45,926	\$8,832
Hay Storage	3623	1357	31	100	9,496	\$18.04	\$171,308	1954	2002	48.00	90.00	\$89,080	\$17,131
Hazardous Chemical Storage	7961	0581	31	100	257	\$155.53	\$39,971	1999	2002	70.00	90.00	\$11,991	\$3,997
Hazardous Waste	3325	0133	30	100	910	\$194.33	\$176,840	1983	2002	85.08	90.00	\$26,385	\$17,684
Hazardous Waste	3326	0134	30	100	2,500	\$18.57	\$46,425	1984	2002	85.28	90.00	\$6,834	\$4,643
Headhouse/Insectary	3906	4751	11	100	1,598	\$75.81	\$121,144	1962	2002	89.54	94.00	\$12,672	\$7,269
Headquarters	3531	1052	16	100	8,560	\$103.18	\$883,221	1958	2002	86.51	94.00	\$119,146	\$52,993
Headquarters	3830	4101	31	100	2,357	\$103.18	\$243,195	1969	2002	74.00	94.00	\$63,231	\$14,592
Heating Plant	3245	0068	30	100	19,416	\$811.37	\$15,753,560	1915	2002	89.25	94.00	\$1,693,508	\$945,214
Home Management	3229	0056	16	100	4,019	\$77.38	\$310,990	1925	2002	63.00	94.00	\$115,066	\$18,659
Horse Barn	3631	1377	31	100	1,708	\$25.82	\$44,101	1958	2002	48.00	90.00	\$22,932	\$4,410
Horse Barn	3942	4845	31	100	6,196	\$28.46	\$176,338	1920	2002	48.00	90.00	\$91,696	\$17,634
Horse Barn and Animal Food Barn	3444	0554	41	100	45,194	\$72.35	\$3,269,786	1979	2002	77.46	94.00	\$737,010	\$196,187
Horse Shelter	3615	1331	31	100	1,320	\$14.54	\$19,193	1986	2002	58.00	90.00	\$8,061	\$1,919
Horse Shelter	3616	1332	31	100	1,320	\$14.54	\$19,193	1986	2002	58.00	90.00	\$8,061	\$1,919
Horse Shelter	3617	1333	31	100	1,320	\$14.54	\$19,193	1986	2002	58.00	90.00	\$8,061	\$1,919
Horse Shelter	3618	1334	31	100	1,320	\$14.54	\$19,193	1986	2002	58.00	90.00	\$8,061	\$1,919
Horse Shelter	3619	1335	31	100	1,320	\$14.54	\$19,193	1986	2002	58.00	90.00	\$8,061	\$1,919
Hort, Quonset-North	3357	0194	14	100	3,099	\$64.49	\$199,855	1954	2002	38.00	94.00	\$123,910	\$11,991
Hort. Quonset-South	3358	0195	14	100	3,188	\$64.49	\$205,594	1954	2002	38.00	94.00	\$127,468	\$12,336
Hort. Storage Shed	3344	0172	31	100	1,156	\$15.46	\$17,872	1976	2002	48.00	90.00	\$9,293	\$1,787
Horticulture Garage	3345	0172	31	100	768	\$13.40	\$39,636	1976	2002	48.00	90.00	\$20,611	\$3,964
Hughes Stadium	3682	1901	15	100	40,867	\$388.71	\$15,885,412	1968	2002	77.28	94.00	\$3,609,166	\$953,125
Hydro-Machinery Lab	3567	1111	12	100	16,826	\$103.18	\$1,736,107	1966	2002	68.81	94.00	\$541,492	\$104,166
Industrial Sci. Labs	3233	0060	14	100	20,246	\$90.28	\$1,827,809	1925	2002	75.28	94.00	\$451,834	\$109,669
Industrial Sciences	3231	0058	14	100	28,009	\$90.28	\$2,528,653	1884	2002	75.83	94.00	\$611,175	\$151,719
Insectary	3296	0105		100		\$103.18	\$445,015	1967	2002	70.60	94.00	\$130,835	\$26,701
Insectary	3849		11	100	4,313 188	\$75.82	\$14,254	1966	2002	69.58	94.00	\$4,336	\$855
		4606	11					1989	2002	63.00	94.00	\$39,512	\$6,407
Inst Serv Maint Shop	3307 8844	0111 4022	30	100	220	\$485.41 \$70.74	\$106,790 \$636,660	2000	2002	94.00	94.00	\$38,200	\$38,200
Intensive Monogastric Ruminant Research					9,000				2002	58.00	94.00	\$114,350	\$16,336
Irradiation Site	3670	1423	11	100	2,627	\$103.64	\$272,262	1967 1984	2002	58.00	90.00	\$1,586	\$378
Irrigation Filter	3624	1359	30	100	242	\$15.60	\$3,775	1984	2002	72.27	94.00	\$42,312	\$9,155
Isolation Barn	3443	0553	41	100	2,109	\$72.35	\$152,586		2002	58.00	90.00	\$20,897	\$4,975
Isolation Shed	3632	1380	31	100	2,367	\$21.02	\$49,754	1977	2002	60.14	94.00	\$2,377,496	\$357,877
J.V.K. Wagar	3264	0084	11	100	48,160	\$123.85	\$5,964,616	1939 1936	2002	77.12	94.00	\$1,133,471	\$297,239
Johnson Hall	3257	0079	10	100	48,013	\$103.18	\$4,953,981		2002	93.36	94.00	\$96,492	\$87,191
L. L. Gibbons	3242	0067	14	100	14,084	\$103.18	\$1,453,187	1905	2002	48.00	94.00	\$19,792	\$2,284
Lab/Storage	3865	4633	31	100	1,004	\$37.91	\$38,062	1945	2002	86.85	94.00	\$20,996	\$9,580
Lab/Storage	3913	4785	11	100	2,809	\$56.84	\$159,664	1960	2002	88.10	94.00	\$44,305	\$22,338
Laboratory/Office	3960	4891	- 11	100	6,042	\$61.62	\$372,308	1969		86.84	94.00	\$51,212	\$22,336
Laboratory/Offices	3885	4705	16	100	4,132	\$94.18	\$389,152	1982	2002			\$564,316	\$75,059
Lake St. Greenhouses	3359	0196	11	100	19,398	\$64.49	\$1,250,977	1949	2002	54.89	94.00		\$8,298
Larimer Fire Cache	3547	1064	31	100	2,050	\$40.48	\$82,984	1980	2002	48.00	90.00	\$43,152	\$80,060
Laurel Hall	3232	0059	30	100	14,780	\$90.28	\$1,334,338	1884	2002	98.55	94.00	\$19,348	\$12,161
Library	3925	4822	17	100	4,277	\$47.39	\$202,687	1938	2002	58.00	94.00	\$85,129	
Livestock Shed	3598	1174	31	100	3,399	\$25.13	\$85,417	1980	2002	48.00	90.00	\$44,417	\$8,542
Lockman Granary	7970	4075	31	100	1,600	\$16.44	\$26,304	1999	2002	92.00	90.00	\$2,104	\$2,630
Lockman Machine Shed / Shop	7967	4072	31	100	2,045	\$11.66	\$23,845	1999	2002	92.00	94.00	\$1,908	\$1,431
Lockman Pump House	8837	4076	31	100	10	\$10.52	\$105	1999	2002	48.00	90.00	\$55	\$11
Lockman Shop and Equipment	7966	4071	31	100	5,090	\$29.25	\$148,883	1999	2002	92.00	94.00	\$11,911	\$8,933

Lockman Utility Shed	7969	4074	31	100	263	\$10.52	\$2,767	1999		2002	92.00	90.00	\$221	\$277
Louis R. Weber	3222	0045	11	100	55,225	\$103.18	\$5,698,116	1922		2002	84.35	94.00	\$891,755	\$341,887
Lrg.Anim.Rehab.Unit	3469	0578	41	100	2,700	\$33.94	\$91,638	1986		2002	74.00	94.00	\$23.826	\$5,498
Machine Shed	3548	1065	31	100	3,340	\$18.03	\$60,220	1958		2002	48.00	90.00	\$31,315	\$6,022
Machine Shed	3689	2013	31	100	7,459	\$51.61	\$384,959	1963		2002	48.00	90.00	\$200,179	\$38,496
Machine Shed	7188	4060	31	100	30,000	\$9.77	\$293,100	1992		2002	92.00	90.00	\$23,448	\$29,310
Machine Shed	5186	4612	31	100	2,400	\$19.72	\$47,328	1998		2002	48.00	90.00	\$24,611	\$4,733
Machine Shed	3883	4703	31	100	3,007	\$37.91	\$113,995	1967		2002	91.54	90.00	\$9,644	\$11,400
Machine Shed	5002	4722	31	100	293	\$12.77	\$3,742	1973		2002	48.00	90.00	\$1,946	\$374
Machine Shed	3970	4906	31	100	2.027	\$37.91	\$76,844	1946		2002	48.00	90.00	\$39.959	\$7,684
Machine Shed	3975	4912	31	100	1,555	\$37.91	\$58,950	1948		2002	48.00	90.00	\$30,654	\$5,895
Machine Shop	3889	4723	31	100	1,024	\$37.91	\$38,820	1976		2002	89.01	90.00	\$4,266	\$3,882
Machine Shop	3914	4786	31	100	4,381	\$37.91	\$166,084	1964		2002	90.73		\$15,396	
Madison Macdonald Observatory	3297	0106	11	100	687	\$193.47						94.00		\$9,965
Maintenance Garage	3449	0558	29	100	1,212	\$35.77	\$132,914	1965 1981	100000000000000000000000000000000000000	2002	85.58	94.00	\$19,166	\$7,975
Maintenance Garage	3672	1427	31	100			\$43,353			2002	83.51	94.00	\$7,149	\$2,601
Mare Barn	3635	1385	31		1,017	\$22.34	\$22,720	1981		2002	48.00	94.00	\$11,814	\$1,363
Mare Barn	5167	1399	31	100	5,167	\$25.82	\$133,412	1973		2002	58.00	90.00	\$56,033	\$13,341
MC Substation	7175		30		11,412	\$18.27	\$208,497	1999		2002	48.00	90.00	\$108,419	\$20,850
Meat Packing Plant	7484	0138		100	546	\$898.16	\$490,395	1967		2002	54.00	90.00	\$225,582	\$49,040
Microbiology		0955	11	100	5,139	\$101.68	\$522,534	1993		2002	74.00	94.00	\$135,859	\$31,352
Military Annex	3310	0120	11	100	65,664	\$128.99	\$8,469,999	1968		2002	75.97	94.00	\$2,035,341	\$508,200
Military Sciences	3284	0095	10	100	6,730	\$64.49	\$434,018	1927	1990	2002	27.52	94.00	\$314,576	\$26,041
	3282	0094	10	100	13,814	\$90.28	\$1,247,128	1927		2002	48.75	94.00	\$639,153	\$74,828
Model 10 Pest. Strg.	7344	4758	31	100	63	\$194.60	\$12,260	1992		2002	48.00	90.00	\$6,375	\$1,226
Modular Office	3550	1066	16	100	646	\$51.61	\$33,340	1974		2002	81.33	94.00	\$6,225	\$2,000
Mol. & Rad. Biosci.	5003	0155	11	100	87,670	\$170.33	\$14,932,831	1989		2002	92.15	94.00	\$1,172,227	\$895,970
Monkey House	3662	1413	11	100	369	\$90.28	\$33,313	1964		2002	64.00	94.00	\$11,993	\$1,999
Morgan Library	3275	0090	17	100	299,584	\$109.08	\$32,678,623	1964		2002	89.93	94.00	\$3,290,737	\$1,960,717
Motor Performance	3671	1425	31	100	800	\$64.48	\$51,584	1968		2002	48.00	94.00	\$26,824	\$3,095
Motor Pool Storage	3313	0123	30	100	268	\$16.27	\$4,360	1984		2002	48.00	90.00	\$2,267	\$436
Music	3224	0046	13	100	38,195	\$103.18	\$3,940,960	1927		2002	48.93	94.00	\$2,012,648	\$236,458
Nat Resource Res Lab	3263	0083	16	100	4,000	\$103.18	\$412,720	1968		2002	50.92	94.00	\$202,563	\$24,763
Natural & Environmental Services Bldg	7334	0109	11	100	77,000	\$139.81	\$10,765,370	1994	The said of	2002	86.73	94.00	\$1,428,565	\$645,922
Natural Resources	3262	0082	10	100	73,027	\$110.47	\$8,067,293	1975		2002	82.19	94.00	\$1,436,785	\$484,038
New Cellar	3911	4783	31	100	9,033	\$37.91	\$342,441	1950		2002	88.83	90.00	\$38,251	\$34,244
North Classroom	3771	3030	10	100	2,545	\$103.18	\$262,593	1923		2002	87.00	94.00	\$34,137	\$15,756
Nursery	3540	1060	31	100	28,983	\$90.28	\$2,616,585	1964		2002	79.00	94.00	\$549,483	\$156,995
Nursery Storage	5005	1071	31	100	2,472	\$25.28	\$62,492	1979		2002	48.00	94.00	\$32,496	\$3,750
Occupational Therapy	3241	0066	10	100	22,104	\$103.18	\$2,280,691	1919		2002	86.08	94.00	\$317,472	\$136,841
Occupational Therapy Annex	3240	0065	30	100	984	\$64.78	\$63,744	1910		2002	91.92	94.00	\$5,150	\$3,825
Office	5013	1366	16	100	590	\$53.26	\$31,423	1950		2002	64.00	94.00	\$11,312	\$1,885
Office	3686	2010	16	100	1,228	\$51.61	\$63,377	1959		2002	48.00	94.00	\$32,956	\$3,803
Office	3853	4621	16	100	909	\$47.39	\$43,078	1957		2002	51.10	94.00	\$21,065	\$2,585
Office	3958	4881	16	100	1,569	\$43.02	\$67,498	1983		2002	88.22	94.00	\$7,951	\$4,050
Office Building	5011	4914	16	100	2,333	\$56.48	\$131,768	1903		2002	63.00	94.00	\$48,754	
Office/Lab	3912	4784	16	100	4,236	\$56.48		1991		2002	75.11	94.00		\$7,906
Office/Lab	3968	4903	16	100	5,714	\$52.13	\$262,251	1848			63.00	94.00	\$65,274	\$15,735
Office/Laboratory	3899	4744	16	100			\$297,871	1000		2002			\$110,212	\$17,872
Office/Machine Shop	3899	4744			4,826	\$61.62	\$297,378	1962		2002	70.09	94.00	\$88,946	\$17,843
Office/Shop			16	100	1,696	\$42.65	\$72,334	1962		2002	90.11	94.00	\$7,154	\$4,340
Office-Residence Anx	3867	4635	31	100	2,400	\$47.39	\$113,736	1977	1 1 1 1 1 1 1	2002	90.58	94.00	\$10,714	\$6,824
Old Fort Collins High School	3663	1414	16	100	1,749	\$64.48	\$112,776	1966	10	2002	58.00	94.00	\$47,366	\$6,767
	4239	0601	10	100	143,399	\$121.70	\$17,451,658	1926	1997	2002	58.75	94.00	\$7,198,809	\$1,047,099
Old Fort Collins High School - Annex	4240	0602	16	100	17,451	\$125.67	\$2,193,067	1957	1997	2002	74.69	94.00	\$555,065	\$131,584

Old Fort Collins High School - Classroom	4241	0603	10	100	1,055	\$46.44	\$48,994	1957	1997	2002	77.95	94.00	\$10,803	\$2,940
Old Fort Collins High School - Lawn Shed	4238	0606	31	100	1,874	\$28.69	\$53,765	1997	1997	2002	48.00	90.00	\$27,958	\$5,377
Old Fort Collins High School - Storage	4242	0604	30	100	370	\$22.80	\$8,436	1957	1997	2002	65.00	90.00	\$2,953	\$844
Onion Storage	3845	4602	31	100	1,600	\$37.91	\$60,656	1932	1001	2002	88.44	90.00	\$7,012	\$6,066
Original Barn	8006	2427	31	100	609	\$45.84	\$27,917	1988		2002	48.00	90.00	\$14,517	\$2,792
Outhouse	8008	2429	31	100	20	\$57.30	\$1,146	1988		2002	48.00	90.00	\$596	\$115
Packing Shed	3898	4743	31	100	1,465	\$37.91	\$55,538	1941		2002	48.00	90.00	\$28,880	\$5,554
Paint Shop	3537	1057	30	100	2,417	\$25.82	\$62,407	1975		2002	80.36	94.00	\$12,257	\$3,744
Painter Center	3338	0144	11	100	31,139	\$113.86	\$3,545,487	1980		2002	79.40	94.00	\$730,370	\$212,729
Palpation Chutes	8850	4018	31	100	750	\$211.17	\$158,378	2000		2002	94.00	90.00	\$9,503	\$15,838
Palpation Chutes	8842	4019	31	100	1,500	\$70.74	\$106,110	2000		2002	94.00	90.00	\$6,367	\$10,611
Pathology	3330	0140	11	100	58,902	\$115.58	\$6,807,893	1976		2002	85.53	94.00	\$985,102	\$408,474
Pesticide Shed	5185	4611	31	100	153	\$175.96	\$26,922	2000		2002	95.00	90.00	\$1,346	\$2,692
Pesticide Storage	7191	4063	31	100	240	\$251.33	\$60,319	1992		2002	92.00	90.00	\$4,826	\$6,032
Pesticide Storage	5184	4305	31	100	290	\$134.50	\$39,005	2000		2002	95.00	90.00	\$1,950	\$3,901
Pesticide Storage	5188	4619	31	100	153	\$175.96	\$26,922	2000		2002	95.00	90.00	\$1,346	\$2,692
Pesticide Storage	5190	4707	31	100	222	\$144.61	\$32,103	2000		2002	95.00	90.00	\$1,605	\$3,210
Pesticide Storage	5190	4707	31	100	153	\$175.96	\$26,922	2000		2002	95.00	90.00	\$1,346	\$2,692
Pesticide Storage	5191	4759	31	100	222	\$175.96	\$32,103	2000		2002	95.00	90.00	\$1,605	\$3,210
Pesticide Storage	5192	4790	31	100	290	\$134.50	\$39,005	2000		2002	95.00	90.00	\$1,950	\$3,901
Pesticide Storage		4823	31	100	153	\$134.50	\$26,922	2000		2002	95.00	90.00	\$1,346	\$2,692
	5194							2000		2002	95.00	90.00	\$1,346	\$2,692
Pesticide Storage	8839	4883	31	100	153 320	\$175.96 \$161.78	\$26,922	1992		2002	92.00	90.00	\$4,142	\$5,177
Pesticide Storage E	7193	4065	31				\$51,770			2002	92.00	90.00	\$4,142	\$5,177
Pesticide Storage N	7192	4064	31	100	320	\$161.78	\$51,770	1992		2002	58.00	90.00	\$31,232	\$7,436
Photo Bam	3625	1361	31	100	2,880	\$25.82	\$74,362	1968			65.71	94.00		\$501,010
Physiology	3336	0142	11	100	64,740	\$128.98	\$8,350,165	1966		2002	58.00	90.00	\$2,863,272 \$962	\$229
Picnic Shelter	8004	2421	31	100	422	\$5.43	\$2,291	1978		2002	49.65	94.00	\$4,779,912	\$569,602
Plant Sciences Pole Barn	3278	0092	11	100	81,783	\$116.08	\$9,493,371	1959 1983		2002	91.18	90.00	\$8,878	\$10,066
	3886	4706	31	100	2,880	\$34.95	\$100,656			2002	48.00	90.00	\$20,719	\$3,984
Pole Barn	3951	4858	31	100	1,400	\$28.46	\$39,844	1960		2002	48.00	90.00	\$35,518	\$6,830
Pole Barn	3952	4859	31	100	2,400	\$28.46	\$68,304	1960		2002	48.00	90.00	\$41,438	\$7,969
Pole Bam	3953	4860	31	100	2,800	\$28.46	\$79,688	1970			95.00	90.00	\$950	\$1,901
Pole Barn	8838	4882	31	100	1,800	\$10.56	\$19,008	2000		2002	48.00	90.00	\$60,184	\$1,574
Potato Cellar	3972	4908	31	100	3,053	\$37.91	\$115,739	1920			88.60	90.00	\$3,661	\$3,212
Potting Shed	3235	0062	11	100	498	\$64.49	\$32,116	1896		2002	48.00	94.00	\$107,349	\$12,386
Processing	3690	2014	31	100	4,000	\$51.61	\$206,440	1961			58.00	94.00	\$107,349	\$15,639
Processing	3839	4302	31	100	6,735	\$38.70	\$260,645	1955		2002				\$1,854
Project Lab	3524	1016	11	100	1,471	\$21.01	\$30,906	1977		2002	58.00 48.00	94.00	\$12,980 \$658	\$1,054
Pump House	3441	0431	31	100	49	\$25.82	\$1,265	1964		2002				
Pump House	3468	0577	31	100	462	\$24.31	\$11,231	1979		2002	48.00	90.00	\$5,840 \$33,401	\$1,123 \$6,423
Pump House	3530	1051	31	100	249	\$257.96	\$64,232	1961		2002	48.00	90.00		
Pump House	3570	1116	31	100	300	\$34.21	\$10,263	1967		2002	48.00	90.00	\$5,337	\$1,026
Pump House	3600	1175	31	100	100	\$33.51	\$3,351	1980		2002	48.00	90.00	\$1,743	\$335
Pump House	8834	4037	31	100	48	\$17.95	\$862	2000		2002	94.00	90.00	\$52	\$86
Pump House	8835	4038	31	100	48	\$395.95	\$19,006	2000		2002	94.00	90.00	\$1,140	\$1,901
Pump House	8836	4039	31	100	48	\$17.59	\$844	2000		2002	94.00	90.00	\$51	\$84
Pump House		4041	31	100	177	\$17.75	\$3,142	1980		2002	48.00	90.00	\$1,634	\$314
Pump House		4042	31	100	74	\$17.75	\$1,314	1980		2002	48.00	90.00	\$683	\$131
Pump House		4043	31	100	50	\$17.75	\$888	1980		2002	48.00	90.00	\$462	\$89
Pump House		4044	31	100	16	\$17.75	\$284	1980		2002	48.00	90.00	\$148	\$28
Pump House	3827	4055	31	100	36	\$27.12	\$976	1950		2002	48.00	90.00	\$508	\$98
Pump House	3833	4104	31	100	112	\$18.04	\$2,020	1969		2002	48.00	90.00	\$1,051	\$202
Pump House	3842	4306	31	100	81	\$18.04	\$1,461	1983		2002	48.00	90.00	\$760	\$146

2942	1207	1 24	T 400									
												\$150
									17.27	90.00	\$2,932	\$354
									85.26	90.00	\$1,324	\$898
							1920	2002	48.00	90.00	\$12,616	\$2,426
						\$4,625	1936	2002	48.00	90.00	\$2,405	\$463
						\$25,510	1940	2002	48.00	94.00	\$13,265	\$1,531
						\$25,897	1940	2002	48.00	94.00	\$13,467	\$1,554
				2,963	\$66.99	\$198,491	1981	2002	77.79	94.00	\$44,085	\$11,909
				510	\$38.70	\$19,737	1963	2002	58.00	94.00	\$8,290	\$1,184
		11	100	125	\$128.98	\$16,123	1968	2002	58.00	90.00		\$1,612
		31	100	2,560	\$18.04	\$46,182	1960					\$4,618
5012	4915	11	100	3,706	\$42.68	\$158.172	1991					\$9,490
3566	1110	11	100	2,914	\$25.82							\$4,514
3513	1003	29	100	293	\$77.38							\$2,267
8003	2420	31	100									\$573
3582	1127	11	100									\$1,915
3822	4050											
3834	4105											\$10,138
												\$7,498
												\$7,251
												\$11,556
												\$9,011
												\$115
												\$5,970
												\$595,909
												\$38,903
												\$921
												\$382
												\$67,349
		_										\$1,532
									94.00	90.00	\$190	\$317
									48.00	90.00	\$15,672	\$3,014
						\$12,738	1976	2002	48.00	90.00	\$6,624	\$1,274
				-		\$171,880	1982	2002	91.31	94.00	\$14,936	\$10,313
					\$25.82	\$65,273	1975	2002	58.00	90.00	\$27,415	\$6,527
					\$12.10	\$11,253	1983	2002	48.00	90.00	\$5,852	\$1,125
			100	66	\$18.04	\$1,191	1960	2002	48.00	90.00	\$619	\$119
			100	4,028	\$181.09	\$729,431	1974	2002	92.00	94.00	\$58,354	\$43,766
			100	546	\$36.18	\$19,754	1979	2002	48.00	90.00	\$10,272	\$1,975
	1405	31	100	391	\$18.04	\$7,054	1968	2002	48.00	90.00	\$3,668	\$705
	1406	31	100	391	\$18.04	\$7,054	1968	2002	48.00	90.00	\$3,668	\$705
3658	1408	31	100	630	\$18.04	\$11,365	1968	2002	48.00	90.00	\$5,910	\$1,137
3659	1409	31	100	630	\$18.04	\$11,365	1968	2002	48.00	90.00	\$5,910	\$1,137
3660	1410	31	100	630	\$18.04	\$11,365	1968	2002	48.00	90.00		\$1,137
3836	4107	31	100	580								\$1,046
3837	4108	31	100	576								\$1,039
3680	1460	31	100									\$8,028
3621	1355											\$6,028
				-								\$6,166
												\$413
												\$58,071
	1451	31	100	432	\$10.85	\$4,687	1985	2002	48.00	90.00	\$2,437	\$469 \$469
3674												
	3513 8003 3582 3822 3834 3881 3967 3966 3741 3589 3199 3234 8011 3511 3236 3554 8833 3945 3963 3650 3461 3661 3817 3658 3659 3659 3659 3659 3659 3659 3659 3659	3866 4634 3915 4787 3949 4853 3973 4910 3564 1107 3565 1108 3586 1132 3606 1309 3838 4109 3651 1400 5012 4915 3566 1110 3513 1003 8003 2420 3582 1127 3822 4050 3834 4105 3881 4701 3967 4902 3589 1135 3199 0015 3234 0061 8011 2432 3589 1135 3199 0015 3234 0061 8011 2432 3581 1001 3236 0063 3554 1070 8833 4031 3945 4848 3963 4894 5160 4730 3661 1412 3817 3095 3649 1397 3656 1405 3657 1406 3657 1406 3659 1409 3660 1410 3836 4107 3837 4108 3680 1460 3622 1356 3851 4609 8828 4014	3866 4634 31 3915 4787 31 3949 4853 31 3973 4910 31 3564 1107 31 3565 1108 31 3586 1132 16 3606 1309 30 3838 4109 11 3651 1400 31 5012 4915 11 3566 1110 11 3566 1110 11 3568 1132 16 3600 52 3834 4109 51 3561 1400 31 3513 1003 29 8003 2420 31 3582 1127 11 3822 4050 52 3834 4105 52 3834 4105 52 3834 4105 52 3834 4105 52 3834 4105 52 3881 4701 52 3967 4902 52 3966 4901 52 3741 2422 31 3589 1135 11 3199 0015 16 3234 0061 16 8011 2432 31 3511 1001 29 3236 0063 11 3554 1070 31 8833 4031 31 3945 4848 31 3963 4894 31 5160 4730 31 3650 1398 31 3661 1412 30 3817 3095 30 3649 1397 31 3656 1405 31 3659 1409 31 3660 1410 31 3837 4108 31 3660 1410 31 3837 4108 31 3660 1400 31 3651 1400 31 3837 4108 31 3660 1410 31 3837 4108 31 3660 1410 31 3837 4108 31 3661 3659 1409 31 3860 1460 31 3861 3651 3155 31 3661 3652 1355 31 3661 3659 1409 31 3860 1460 31 3837 4108 31 3860 1460 31 3851 4609 31 3851 4609 31 3851 4609 31 3851 4609 31	3866 4634 31 100 3915 4787 31 100 3949 4853 31 100 3973 4910 31 100 3564 1107 31 100 3565 1108 31 100 3586 1132 16 100 3606 1309 30 100 3838 4109 11 100 3651 1400 31 100 3566 1110 11 100 3566 1110 11 100 3566 1110 11 100 3568 1127 11 100 3566 1110 11 100 3552 1127 11 100 3582 1127 11 100 3822 4050 52 100 3881 4701 52 100 3867 4902 52<	3866 4634 31 100 39 3915 4787 31 100 237 3949 4853 31 100 640 3973 4910 31 100 988 3564 1107 31 100 988 3565 1108 31 100 1,003 3586 1132 16 100 2,963 3606 1309 30 100 510 3838 4109 11 100 125 3651 1400 31 100 2,560 5012 4915 11 100 3,706 3566 1110 11 100 2,914 3513 1003 29 100 2,807 3582 1127 11 100 82 3822 4050 52 100 2,669 3834 4105 52 100 2,659 3861	3866 4634 31 100 38 \$90.87	3866 4634 31 100 39 \$90.87 \$3,544 3915 4787 31 100 237 \$37,91 \$8,985 3949 4853 31 100 640 \$37,91 \$24,262 3973 4910 31 100 122 \$37,91 \$4,625 3564 1107 31 100 988 \$25,82 \$25,510 3565 1108 31 100 1,003 \$25,82 \$25,510 3566 1132 16 100 2,963 \$66,99 \$198,491 3606 1309 30 100 510 \$38,70 \$19,737 3638 4109 11 100 1,25 \$128,98 \$16,123 3651 1400 31 100 2,560 \$18.04 \$46,182 5012 4915 11 100 3,706 \$42,68 \$158,172 3566 1110 11 100 2,914 \$25,82 \$75,233 3513 1003 29 100 293 \$77,38 \$22,672 8003 2420 31 100 2,807 \$2,04 \$5,726 3582 1127 11 100 882 \$36,18 \$31,911 3822 4050 52 100 2,669 \$63,31 \$168,974 3834 4105 52 100 2,550 \$47,33 \$124,969 3881 4701 52 100 2,550 \$47,33 \$120,845 3967 4902 52 100 4,064 \$47,39 \$192,593 3966 4901 52 100 3,169 \$47,39 \$192,593 3966 4901 52 100 3,169 \$47,39 \$192,593 3967 4902 52 100 3,169 \$47,39 \$192,593 3968 4901 52 100 3,169 \$47,39 \$192,593 3969 4901 52 100 3,169 \$47,39 \$192,593 3960 4901 52 100 3,169 \$47,39 \$192,593 3961 4902 52 100 3,169 \$47,39 \$192,593 3963 4894 31 100 567 \$33,55 \$1,912 3234 0061 16 100 61,198 \$162,29 \$9,931,823 3234 0061 16 100 61,198 \$131,84 \$648,89 3011 2432 31 100 567 \$33,55 \$1,124 3963 4894 31 100 336 \$37,91 \$30,138 3963 4894 31 100 360 \$18,04 \$1,125,91 3963 4894 31 100 360 \$18,04 \$1,125,91 3964 4907 31 100 4,000 \$42,97 \$171,880 3965 400 31 100 300 \$18,04 \$31,085 3963 4894 31 100 360 \$18,04 \$31,085 3964 4107 31 100 560 \$18,04 \$31,085 3965 3060 301 300 300 300 300 300 3061 307	3866 4634 31 100 39 \$90.87 \$3,544 1983 3915 4787 31 100 227 \$37.91 \$8,985 1952 3949 4853 31 100 640 \$37.91 \$24,262 1920 3973 4910 31 100 122 \$37.91 \$4,625 1936 3564 1107 31 100 988 \$25.82 \$25.510 1940 3565 1108 31 100 1,003 \$22.82 \$25.510 1940 3586 1132 16 100 2,963 \$66.99 \$108,491 1981 3606 1309 30 100 510 \$38.70 \$319,737 1963 3838 4109 11 100 125 \$128.98 \$15,61,23 1963 3666 1400 31 100 2,560 \$18.04 \$46,182 1960 3566 1110 11 100 2,914 \$25.82 \$75,239 1972 3566 1110 11 100 2,914 \$25.82 \$75,239 1972 3513 1003 29 100 2,803 \$77.38 \$22,672 1941 3566 1110 11 100 2,807 \$25.82 \$375,330 377.38 \$22,672 1941 3568 1112 11 100 2,807 \$20.4 \$5,726 1991 3562 1127 11 100 882 \$36.18 \$31.911 1978 3824 4105 52 100 2,669 \$63.31 \$168,974 1950 3884 4105 52 100 2,669 \$63.31 \$168,974 1950 3884 4701 52 100 2,550 \$47.39 \$120,845 1963 3884 4701 52 100 2,550 \$47.39 \$120,845 1963 3967 4902 52 100 2,550 \$47.39 \$120,845 1963 3967 4902 52 100 2,550 \$47.39 \$120,845 1963 3966 4901 52 100 2,550 \$47.39 \$120,845 1963 3966 4901 52 100 3,169 \$47.39 \$150,179 1920 3741 2422 31 100 577 \$33.55 \$1,912 1973 3589 1135 11 100 5,212 \$19.99 \$9,497 1973 3599 0051 16 100 4,918 \$131.84 \$44,889 1890 3651 100 120 \$26.40 \$3,168 30.91 1973 3594 4064 31 100 40.948 \$150,49 \$1,122,491 1993 3965 4844 31 100 366 \$150.49 \$1,122,491 1993 3965 4004 31 100 40.08 \$150.49 \$1,122,491 1993 3965 4004 31 100 366 \$18.04 \$11,269 \$1960 3660 1398 31 100 366 \$18.04 \$11,269 \$1960 3660 1398 31 100 366 \$18.04 \$11,365 1968 3660 1400 31 100 360	3866 4634 31 100 39 \$0.037 \$3,544 1983 2002	3866 4634 31 100 38 380.87 \$3,544 1983 2002 17.27	3986 4834 31 100 39 390.87 \$3,544 1983 2002 17.27 39.00	9866 4634 31 1100 39 \$50.00 \$7.00 \$3.544 1983 \$20.00 \$17.27 \$60.00 \$27.00 \$2.00 \$37.91 \$3.544 1983 \$20.00 \$17.27 \$60.00 \$2.00 \$13.24 \$3.00 \$40 \$48.00 \$40.00 \$31.24 \$3.00 \$40 \$48.00 \$40.00 \$31.24 \$40.00 \$40

Shelter	3676	1454	31	100	617	\$9.48	\$5,849	1955	2002	48.00	90.00	\$3,042	\$585
Shelter	3677	1455	31	100	432	\$10.85	\$4,687	1985	2002	48.00	90.00	\$2,437	\$469
Shelter	7166	1456	31	100	924	\$10.54	\$9,739	1970	2002	48.00	90.00	\$5,064	\$974
Shelter	3678	1457	31	100	509	\$9.48	\$4,825	1955	2002	48.00	90.00	\$2,509	\$483
Shelter	7167	1459	31	100	924	\$10.54	\$9,739	1970	2002	48.00	90.00	\$5,064	\$974
Shepardson	3281	0093	10	100	47,354	\$116.08	\$5,496,852	1939	2002	57.67	94.00	\$2,326,818	\$329,811
Shop	3532	1053	30	100	6,916	\$77.38	\$535,160	1961	2002	70.84	94.00	\$156,053	\$32,110
Shop	3957	4880	31	100	1,600	\$31.87	\$50,992	1982	2002	91.04	94.00	\$4,569	\$3,060
Shop And Shed	3905	4750	31	100	2,448	\$37.91	\$92,804	1962	2002	90.97	94.00	\$8,380	\$5,568
Shop Hangar	3514	1004	29	100	6,022	\$77.38	\$465,982	1941	2002	48.00	94.00	\$242,311	\$27,959
Shop Storage	7342	2426	31	100	2,304	\$14.90	\$34,330	1992	2002	48.00	90.00	\$17,851	\$3,433
Shop/Storage	3863	4631	31	100	2,100	\$37.91	\$79,611	1945	2002	85.26	94.00	\$11,735	\$4,777
Shop/Storage	3962	4893	31	100	2,430	\$37.91	\$92,121	1976	2002	89.34	94.00	\$9,820	\$5,527
Shop-Machine Storage	3841	4304	31	100	2,882	\$38.70	\$111,533	1965	2002	48.00	94.00	\$57,997	\$6,692
Silo	3943	4846	31	100	154	\$37.91	\$5,838	1920	2002	48.00	90.00	\$3,036	\$584
Softball Dugouts	5125	0016	15	100	255	\$105.13	\$26,808	1995	2002	48.00	90.00	\$13,940	\$2,681
Softball Scorers Box	5126	0016	15	100	95	\$37.03	\$3,518	1995	2002	48.00	90.00	\$1,829	\$352
Solar Energy House 1	3577	1122	12	100	4,558	\$128.99	\$587,936	1974	2002	73.86	94.00	\$153,687	\$35,276
Solar Energy House 2	3579	1123	12	100	3,626	\$128.99	\$467,718	1974	2002	69.71	94.00	\$141,672	\$28,063
Solar Energy House 3	3580	1123		100		\$128.99		1975	2002	67.36	94.00	\$152,831	\$28,094
Solar Greenhouse	3580	1124	12	100	3,630		\$468,234	1975	2002	75.87	90.00	\$35,317	\$14,636
Solids Separator	3581	0561	11		1,393 400	\$105.07	\$146,363		2002	48.00	90.00	\$7,440	\$1,431
South Classroom			31	100		\$35.77	\$14,308	1981	2002	86.00	94.00	\$21,783	\$9,336
	3765	3026	10	100	1,508	\$103.18	\$155,595	1963		86.67		\$21,703	\$101,500
Spruce Hall Stallion Barn	3238	0064	16	100	18,738	\$90.28	\$1,691,667	1881	2002	48.00	94.00	\$69,374	\$13,341
	3645	1394	31	100	5,167	\$25.82	\$133,412	1974	2002			\$69,075	\$31,832
Stallion Laboratory Stallion Pen	3639	1389	31	100	5,900	\$89.92	\$530,528	1979	2002	86.98 48.00	94.00	\$35,375	\$6,803
Stallion Pens	3646	1395	31	100	2,672	\$25.46	\$68,029	1977		48.00	90.00	\$20,596	\$3,961
Stallion Pens	3643	1391	31	100	1,534	\$25.82	\$39,608	1968	2002	48.00	90.00	\$11,386	\$2,190
Statistics	3644	1392 0044	31	100	848	\$25.82	\$21,895	1968	2002	87.24	94.00	\$518,574	\$243,843
	3221		16	100	25,528	\$159.20	\$4,064,058	1908	2002	81.66	94.00	\$110,877	\$36,274
Stock Judging Pav.	3311 3439	0121	11	100	9,376	\$64.48	\$604,564	1960 1964	2002	48.00	90.00	\$5,397	\$1,038
Storage		0422	31	100	402	\$25.82	\$10,380		2002	48.00	90.00	\$21,200	\$4,077
Storage	3440	0423	31	100	1,579	\$25.82	\$40,770	1964	2002	48.00	90.00	\$17,083	\$3,285
Storage	3450	0559	31	100	2,125	\$15.46	\$32,853	1957 1957	2002	48.00	90.00	\$17,083	\$3,285
Storage	3451	0560	31	100	2,125	\$15.46	\$32,853	1957	2002	48.00	90.00	\$17,083	\$3,285
Storage	3453	0562	31	100	2,125	\$15.46	\$32,853				90.00	\$44,546	\$8,567
Storage	3519	1008	31	100	2,045	\$41.89	\$85,665	1981 1981	2002	48.00 48.00	90.00	\$1,348	\$259
Storage Storage	3520	1009	31	100	407	\$6.37 \$6.37	\$2,593	1984	2002	48.00	90.00	\$583	\$112
Storage	3521	1013	31	100	176		\$1,121	1984	2002	48.00	90.00	\$103,817	\$19,965
	3525	1017	31	100	4,766	\$41.89	\$199,648		2002	74.86	90.00	\$67,482	\$26,842
Storage	3533	1054	31	100	5,201	\$51.61	\$268,424	1965	2002	48.00	90.00	\$27,031	\$5,198
Storage	3538	1058	31	100	2,268	\$22.92	\$51,983	1975	2002	95.27	90.00	\$3,534	\$7,472
Storage	3539	1059	31	100	2,894	\$25.82	\$74,723	1975		48.00	90.00	\$13,843	\$2,662
Storage	3544	1061	31	100	1,031	\$25.82	\$26,620	1969	2002	48.00	90.00	\$13,843	\$3,452
Storage	3545	1062	31	100	5,419	\$6.37	\$34,519	1984	2002	48.00	90.00	\$9,728	\$1,871
Storage	3555	1083	31	100	1,037	\$18.04	\$18,707	1915	2002	48.00	90.00	\$1,299	\$250
Storage	3569	1115	31	100	264	\$9.46	\$2,497	1985				\$1,299	\$186
Storage	3743	2424	31	100	86	\$21.66	\$1,863	1973	2002	48.00	90.00	\$65,363	\$12,570
Storage	3820	4002	31	100	3,248	\$38.70	\$125,698	1963	2002	48.00	90.00		\$12,570
Storage	3821	4003	31	100	287	\$18.04	\$5,177	1925	2002	48.00	90.00	\$2,692 \$50,630	\$9,736
Storage	3831	4102	31	100	1,510	\$64.48	\$97,365	1970	2002	48.00	90.00		\$9,736
Storage Barn	3819	4001	31	100	1,008	\$13.88	\$13,991	1983	2002	48.00	90.00	\$7,275	\$1,399
Storage Building	3638	1388	31	100	402	\$18.04	\$7,252	1961	2002	48.00	90.00	\$3,771	\$125

Storage Shed	3584	1129	31	100	164	\$27.12	\$4,448	1978	2002	48.00	90.00	\$2,313	\$445
Storage Shed	3585	1130	31	100	164	\$27.12	\$4,448	1978	2002	48.00	90.00	\$2,313	\$445
Storage Shed	8013	2434	31	100	161	\$17.80	\$2,866	1988	2002	48.00	90.00	\$1,490	
Storage Shed	3850	4608	31	100	145	\$37.91	\$5,497	1975	2002	48.00	90.00	\$2,858	\$287
Storage Shed	3900	4745	31	100	885	\$37.91	\$33,550	1962	2002	48.00	90.00	\$17,446	\$550 \$3,355
Storage Shed	3926	4824	31	100	3,500	\$37.91	\$132,685	1918	2002	49.00	90.00	\$67,669	
Student Services	3254	0076	16	100	36,243	\$90.29	\$3,272,380	1948	2002				\$13,269
Supplementation Barn	5019	4620	31	100	2,688	\$5.91	\$15,886	1989	2002	74.91	94.00	\$821,040	\$196,343
Supplies Storage	3534	1055	31	100	208	\$77.38	\$16,095	1974		48.00		\$8,261	\$1,589
Surgical Annex	3665	1416	11	100	3,564	\$90.28	\$321,758	1974	2002	48.00	90.00	\$8,369	\$1,610
Swine Confinement	5131	1396	31	100	2,458	\$60.50			2002	80.46	94.00	\$62,871	\$19,305
Swine Units	8829	4015	31	100	1,200		\$148,709	1977	2002	83.01	94.00	\$25,266	\$8,923
Swine Units	8821	4016	31	100	1,200	\$35.19	\$42,228	2000	2002	94.00	90.00	\$2,534	\$4,223
Tack Room	3835	4106	31	100		\$35.19	\$42,228	2000	2002	94.00	90.00	\$2,534	\$4,223
Tank	7194	4756	31		86	\$18.04	\$1,551	1969	2002	48.00	90.00	\$807	\$155
Tennis Court Storage	3211			100	472	\$6.74	\$3,181	1987	2002	48.00	90.00	\$1,654	\$318
Tool Shed	3919	0031	15	100	45	\$46.43	\$2,089	1958	2002	48.00	90.00	\$1,086	\$209
Trailer	3594	4792	31	100	121	\$37.91	\$4,587	1952	2002	49.00	90.00	\$2,339	\$459
Trailer Office		1140	11	100	164	\$15.93	\$2,613	1985	2002	48.00	94.00	\$1,359	\$157
Turbine Pumphouse	3551	1067	16	100	222	\$51.61	\$11,457	1974	2002	58.00	94.00	\$4,812	\$687
Univ. Greenhouses	7176	1114	11	100	559	\$61.30	\$34,267	1974	2002	48.00	90.00	\$17,819	\$3,427
	3302	0108	11	100	35,297	\$90.28	\$3,186,613	1960	2002	50.66	94.00	\$1,572,275	\$191,197
University Square # 1311	7221	0931	16	OTHER	16,342	\$82.51	\$1,348,378	1993	2002	74.00	94.00	\$350,578	\$80,903
Utility Building	8013	1407	31	100	930	\$153.56	\$142,811	1995	2002	94.00	90.00	\$8,569	\$14,281
Utility Storage	3846	4603	31	100	3,055	\$42.65	\$130,296	1956	2002	83.25	90.00	\$21,825	\$13,030
Vehicle Maintenance	3314	0124	30	100	1,860	\$33.19	\$61,733	1984	2002	68.00	94.00	\$19,755	\$3,704
Vehicle Shed	3857	4625	31	100	1,261	\$27.95	\$35,245	1983	2002	48.00	90.00	\$18,327	\$3,524
Vehicle Wash	3321	0130	30	100	836	\$38.69	\$32,345	1964	2002	58.00	90.00	\$13,585	\$3,234
Vet. Teaching Hosp.	3445	0555	41	100	137,233	\$144.70	\$19,857,615	1979	2002	78.40	94.00	\$4,289,245	\$1,191,457
Visitors Center	7220	0930	29	100	5,688	\$87.29	\$496,506	1991	2002	74.00	94.00	\$129,091	\$29,790
Visual Arts	3341	0151	13	100	91,997	\$84.20	\$7,746,147	1973	2002	77.64	94.00	\$1,732,039	\$464,769
Viticulture Pmphouse	7343	4757	31	100	124	\$18.29	\$2,268	1992	2002	48.00	90.00	\$1,179	\$227
Vocational Education	3251	0075	16	100	11,491	\$90.75	\$1,042,808	1910	2002	94.21	94.00	\$60,379	\$62,568
VTH - Feed Storage	7940	0551	31	100	140	\$8.42	\$1,179	1998	2002	48.00	90.00	\$613	\$118
Water Treatment Pump House	8825	4011	30	100	400	\$211.17	\$84,468	2000	2002	94.00	90.00	\$5,068	\$8,447
Weather Station	3212	0032	11	100	350	\$103.18	\$36,113	1961	2002	78.05	94.00	\$7,927	\$2,167
Weed Research Laboratory	3298	0107	11	100	17,329	\$90.28	\$1,564,462	1964	2002	71.89	94.00	\$439,770	\$93,868
Well House	5183	4069	31	100	30	\$25.28	\$758	2001	2002	95.00	90.00	\$38	\$76
Well House	3976	4913	31	100	71	\$37.91	\$2,692	1950	2002	48.00	90.00	\$1,400	\$269
West Hangar	3512	1002	30	100	4,870	\$51.61	\$251,341	1941	2002	83.70	90.00	\$40,969	\$25,134
West Office	3560	1105	16	100	11,317	\$65.79	\$744,545	1964	2002	67.00	94.00	\$245,700	\$44,673
West Valve House	7177	1141	11	100	194	\$73.56	\$14,271	1991	2002	48.00	90.00	\$7,421	\$1,427
Willard O. Eddy Hall	3308	0113	10	100	69,457	\$90.28	\$6,270,578	1963	2002	79.56			
Winter Research Lab	3806	3077	11	100	2,733	\$116.08	\$317,247	1967	2002		94.00	\$1,281,706	\$376,235
Workshop	3559	1102	30	100	3,216	\$41.89				99.00	94.00	\$3,172	\$19,035
Workshop	3563	1102	30	100	3,216	\$41.89	\$134,718	1980	2002	62.00	94.00	\$51,193	\$8,083
Robert and Mary Flint Cancer Center	3303	0550	41	100	35,217		\$104,271	1963	2002	67.00	94.00	\$34,409	\$6,256
Gail Holmes Orthopedic Research Lab		0563	31			\$234.78	\$8,268,247	2002	2002	98.00	94.00		
ATS/CIRA Research Center		1125		100	16,242	\$142.63	\$2,316,596	2002	2002	98.00	94.00		
Foothills Fisheries Facility			11	100	14,260	\$152.85	\$2,179,641	2002	2002	98.00	94.00		
Stallion Barn		1353	11	100	4,649	\$155.56	\$723,198	2002	2002	98.00	94.00		
Pump House		1393	11	100	3,612	\$81.75	\$295,281	2002	2002	98.00	90.00		
		4045	31	100	80	\$21.94	\$1,755	2002	2002	98.00	90.00		
Pesticide Storage		4636	31	100	153	\$207.84	\$31,800	2002	2002	98.00	90.00		

 GSF
 \$ (GSF)

 R&M
 5,348,658
 \$9,460,249
 \$1.77

 Janitorial
 5,348,658
 \$3,806,134
 \$0.71

 R&G
 11,918,248
 \$1,923,461
 \$0.16

 Utilities
 5,810,431
 \$9,686,099
 \$1.67

Code Compliance Estimated Backlog Total Estimated Backlog

T Backlog	Code	CC	CM	EM
	Projects	Projects	Projects	
\$103,827				
\$375,887				
\$923,025				
\$10,858				
\$57,295			M04042	
\$0			M01013	
\$11,189				
\$85,136				
\$121,178		P0014, P0015		
\$137,839		P0014, P0015		
\$2,509,710				
5,904,773				
\$44,845				
\$81,486				
\$10,979				
\$60,324				
\$70,429			M00034, M01011	
\$3,801		I N	100034, 1001011	
\$320,084				
\$13,885			M00034	
\$1,709,879			M00034	
\$4,364				
\$5,250				
\$5,250				
\$8,096				
\$3,428				
\$12,375				
\$0				
\$11,073				
\$318,396				
\$2,130				
\$33,882			M00034	
\$124,855			14100034	
\$830,584				
6,947,278				
2,565,679				
\$18,380		P0014		
\$7,145		1 0014		
\$11,439				
\$10,296			M00034	
\$1,993		N/	100034, M01017	

\$64,082				
\$33,772		FILE		
\$5,097			M00032	
\$0				
\$0		P0014		
\$81,640				
\$33,899		P0017		
\$3,109		P0014	M01012	
\$74,030				
\$12,118				
\$5,738				(100 to 100 to 1
\$8,934				
\$73,551			M00034	
\$18,088				
\$33,538		THE OWNER OF THE OWNER OWNER OF THE OWNER OW		
\$964			M90026	
\$1,448			14100020	
\$106,383		P0014	M01012	
\$6,120		1 0014	101012	
\$5,020				
\$4,303				
\$419,650				
\$0				
\$33,586				
\$7,010				
\$128,328				
\$2,574				
\$12,295				
\$5,403,923				
\$0				
\$0				
\$2,202				
\$241				
\$17,184				
\$157,096				
\$6,610				
\$0,010				
\$134,012				
\$134,012		D0011		
		P0014		
\$0				
\$0	-	011 5011	M01012	
\$0	PO	014, P011	6	
\$0				
\$14,099		-		
\$14,970		P9909		
\$69,646				
\$923		P0014	100034, M9002	23
\$71,593		P0014		
\$9,591				
\$15,363				
\$0				
\$76,164				
\$13,532				

\$16,060				
\$38,376	Artist Comment			
\$5,662				
\$1,938				
\$0				
\$9,399				C. Section of the Control of the Con
\$2,636				
\$0				
\$69,627				
\$604,205				
\$121,717				
\$73,715				
\$136,751			-	
\$43,108				
\$24,189				
\$163,222			1404040	
\$26,972			M01016	
\$23,194				
\$8,651				
\$473,005				
\$0				
\$62,220				
\$4,251				
\$1,095				
\$928				
\$1,035				
\$2,485,853				
\$435,510				
\$31,003				
\$4,296,800				
\$6,335				
\$383,268				
\$732,695				
\$5,306	The second			
\$2,671				
\$1,704			0.0000000000000000000000000000000000000	
\$2,671				
\$144,023				
\$100,300				
\$456,150	The Branch			
\$188,526				
\$26,158		P0013		
\$0		1 0010		
\$14,803				
\$0				
\$0				
\$49,341				
\$66,965				
\$2,588				
\$4,842				
\$7,560				
\$1,218,937				
\$58,924				

\$25,751			
\$8,963			
\$3,750			
\$5,713			
\$56,030			
\$8,168			
\$61,555			
\$3,821			
\$377			
\$11,343			
\$1,638,452			
\$1,591			
\$1,591			
\$1,591			
\$0			
\$0			
\$0			
\$0			
\$0			
\$3,369			
\$25,229			
\$0			
\$0			
\$0			
\$0			
\$2,452			
\$880			
\$901			
\$4,044			
\$2,452			
\$2,452			
\$13,934			
\$1,561			
\$1,561			
\$47,767		M00034	
\$206,581		11100001	
\$5,701			
\$39,906			
\$5,701			
\$5,701			
\$3,676			
\$7,834			
\$3,526			
\$5,720			
\$5,720			
\$64,614			
\$3,137			
\$714,172		M00034	
\$34,826	P0114	M90023	
\$0	7 5114	11100020	
\$0		M00034	
\$0		M00034	
\$46,047		Mooo34	
7,0,0,1		11100004	

\$39,951		
\$40,769		
\$40,769		
\$37,094		
\$71,949		
\$7,994		
\$8,701		
\$2,191		
\$5,403		
\$66,153		
\$48,639		
\$748,294		
\$96,407		
\$18,522		
\$74,062		
\$540,823		
\$6,142		
\$6,142		
\$6,142		
\$6,142		
\$6,142		
\$111,919		
\$115,133		
\$7,506		
\$16,647		
\$2,656,041		
\$437,325		
\$342,166		
\$459,456		
\$104,134		
\$3,481		
\$33,105		
\$0		
\$98,014		
\$1,208		
\$33,157		
\$15,921		
\$2,019,619		
\$836,232		
\$0		
\$17,508		
\$11,416		
\$21,966		
\$27,863		
\$489,257		
\$34,853		
\$0		
\$72,967		
\$35,875		
\$0		
\$477		
\$44		
\$2,978		

\$0			
\$549,868			
\$18,328			
\$25,292			
\$161,683			
\$0	No. 10 and 10 an		
\$19,878			
\$0			
\$1,571			
\$32,274			
\$24,759		M00034	
\$384			
\$5,431			
\$11,191			
\$4,548			
\$10,451			
\$42,692			
\$87,569			
\$176,542			
\$104,507			
\$1,527,141			
\$288,535			
\$564,325			
\$5,149			
\$4,224			
\$276,257			9.00
\$9,994			
\$0			
\$23,729			
\$1,831			
\$1,776,191			
\$177,800			
\$782,642			
\$952,747			
\$4,007			
\$18,382			
\$392,488			
\$28,746			
\$180,631			
\$0			
\$9,427			
\$29,153			
\$18,480			
\$3,901			
\$40,848			
\$49,539			
\$92,340			
\$71,103			
\$2,814			
\$3,890			
\$40,599			
\$6,151,710			
\$423,481			

\$7,864				
\$22,581				
\$2,109				
\$946				
\$11,725				
\$481				
\$23,326				
\$8,512				
\$517,641				
\$0				
\$0				
\$576,629				
\$0				
\$0				
\$0				
\$0				
\$0				
\$0				
\$0				
\$0				
\$0				
\$0				
\$0				
\$0				
\$23,796				
\$2,362,262				
\$733				
\$4,210,310				
\$0				100000000000000000000000000000000000000
\$16,734				Latin Control
\$28,688				
\$33,469				
\$0			Maria de la constante de la co	
\$48,610	Maria Caracteria			
\$450				
\$94,962				
\$93,832				
\$11,126				
\$531				
\$4,717				
\$26,977				
\$4,310				
\$1,407		EMPES 29 2765		
\$0				
\$0				
\$0				
\$1,320				
\$552				
\$373				
\$119				
\$410				
\$849				
\$614				

\$629				
\$2,578				
\$426				
\$10,190		No. of the last of		
\$1,943				
\$11,735				
\$11,913				
\$32,175				
\$7,105				
\$5,159				
\$19,397			1 1000	
\$72,759				
\$34,610				
\$9,522				
\$2,405		7. 25000		
\$11,488				
\$35,485				
\$37,491			5 4 4 4 4	
\$55,588				
\$59,704				
\$46,555				
\$478				
\$35,819			M90030	
\$0			M90030	
\$6,743			M90030	
\$3,870			14130030	
\$1,605			M90030	
\$128,862			M90030	
\$11,747			M90030	
\$0			Modedo	
\$12,658				
\$5,350				
\$4,624				
\$20,887			M90030	
\$4,726			Wildood	
\$500				
\$14,589				
\$8,297				
\$2,963				
\$2,963	ALC: UNITED STATES			
\$4,773				
\$4,773				
\$4,773	4 5 5 5 5 5			
\$4,395				
\$4,364			M90030	
\$61,548			14130000	
\$25,529				
\$25,898				
\$1,733				
\$0				
\$1,969			M90030	
\$1,969			M90030	
Ψ1,000				
\$2,457			M90030	

\$2,457		M90030	
\$1,969		1110000	
\$4,090			
\$2,027		M90030	
\$4,090		14130030	
\$1,997,006		M90030	
\$123,943			
\$1,509		M90030	
\$2,812		M90030	
\$214,352			
\$14,418		1400000	
		M90030	
\$6,958		1100000	
\$4,293		M90030	
\$51,305		M90030	
\$2,452			
\$11,259			
\$1,477			
\$118,410		M90030	
\$113,609			
\$124,737			
\$20,681			
\$6,009			
\$12,448		M90030	
\$123,999			
\$56,033			
\$37,243			
\$28,572		M90030	
\$16,635			
\$9,196			
\$274,730			
\$74,603			
\$4,359		939	
\$17,123	P0016		
\$13,798			
\$13,798	P0016		
\$13,798			
\$35,979		M90030	
\$1,089			
\$471			
\$83,852			
\$40,639			
\$21,833			
\$0			
\$11,181			
\$14,498			
\$7,857			
\$1,049			
\$782			
\$52,793			
\$2,175			
\$40,893			
\$5,876			
\$3,046			

\$1,868				
\$1,868				
\$1,204				
\$2,309				
\$14,091				
\$54,401				
\$624,697				
\$6,672				Notes and
\$6,760				
\$43,566				
\$16,343		100		
\$0				100000
\$0				
\$652				-
\$1,336				
\$878				
\$1,881				
\$1,202				
\$4,125				
\$14,392				
\$1,381,078				
\$269,676	10.00		M90030	
\$0			10190030	
\$8,795				
\$16,051				
\$14,803				
\$10,350				
\$3,097,788				
\$99,301				
\$1,267,270 \$953				
\$0				
\$495				
\$0				
\$5,760				
\$345,903				
\$0				
\$1,130				
\$15,834				
\$201,027				
\$5,994				
\$905,471				
(\$15,862)			M90030	
\$43,110				
\$28,153				
				100000

\$2,438,066 \$95,360,326

(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)	(13)	(14)	(15)	
Building Name	Div. Of Risk	Occupancy Type	Funding %	G.S.F.	Vacant / Not	C.R.V.	Date	Date	Date of	F.C.I.	F.C.I.	CRV x (1-	CRV X (1-	A/DET-T/DET =	Code
	Man. No.				Utilized		Built	Acquired	Facility Audit	(Actual)	(Target)	A/FCI) =	T/FCI) = T/DET		Projects
					G.S.F.					A/FCI	T/FCI	A/DET		Backlog	
A.E.R.C. Annex	3522	Office	100%	5,041		\$257,891			Jun-04	53%	85%	\$ 121,157	\$ 38,684	\$ 82,474	
Adams Atkinson Arena	7330	Farm Building	100%	38,446		\$1,275,377			Jun-04	64%	80%	\$ 459,136	\$ 255,075	\$ 204,060	
Administration	3924	Office	100%	4,030		\$194,377	1921		Jun-04	64%	85%	\$ 69,976	\$ 29,156	\$ 40,819	
Administration	3258	Office	100%	32,172		\$3,394,148	1924		Jun-04	66%	85%	\$ 1,143,149	\$ 509,122	\$ 634,027	
Administration	3890	Office	100%	2,611		\$125,935	1938		Jun-04	87%	85%	\$ -	\$ -	\$ -	
Administration Annex	3255	Office	100%	43,145		\$3,983,017	1950		Jun-04	96%	85%	\$ -	\$ -	\$ -	
Adobe Shed	5007	Farm Building	100%	1,440		\$27,111	1930		Jun-04	49%	80%	\$ 13,826	\$ 5,422	\$ 8,404	
Ag. Engr. Rsch. Ctr.	3523	Science	100%	15,174		\$1,200,281	1939		Jun-04	87%	85%	\$ -	\$ -	\$ -	
Albert C. Yates Hall		Science	100%	87,841		\$17,191,862	2002		Jun-04	100%	85%	\$ -	\$ -	\$ -	
Alder Hall	3248	Classroom	100%	6,103		\$575,081	1930		Jun-04	84%	85%	\$ 89,943	\$ 86,262	\$ 3,681	
Alumni Center	3188	Office	100%	4,690		\$493,345	1946		Jun-04	69%	85%	\$ 152,937	\$ 74,002	\$ 78,935	
Ammons Hall	3226	Office	100%	24,467		\$2,697,939	1921		Jun-04	89%	85%	\$ -	\$ -	\$ -	
Anatomy-Zoology	3337	Science	100%	148,437		\$19,575,143	1973		Jun-04	81%	85%	\$ 3,729,065	\$ 2,936,271	\$ 792,793	
Andrew G. Clark	3276	Classroom	100%	254,792		\$23,413,140	1967		Jun-04	68%	85%	\$ 7,414,941	\$ 3,511,971	\$ 3,902,970	
Anim. Diagnostic Lab	3887	Science	100%	2,758		\$239,481	1973	7.18	Jun-04	75%	85%	\$ 60,014	\$ 35,922	\$ 24,092	
Animal Disease Lab	3652	Hopital or Infirmay	100%	8,775		\$921,583	1960		Jun-04	85%	90%	\$ 138,237	\$ 92,158	\$ 46,079	
Animal Disease Lab	3847	Science	100%	2,293		\$143,821	1964		Jun-04	86%	85%	\$ -	\$ -	\$ -	
Animal Holding Facility	3654	Farm Building	100%	2,368		\$133,484	1997		Jun-04	49%	80%	68,077	\$ 26,697	\$ 41,380	
Animal Quarters		Farm Building	100%	2,167		\$199,134	1964		Jun-04	59%	80%	81,645	\$ 39,827	\$ 41,818	
Animal Quarters		Farm Building	100%	273		\$9,212	1975		Jun-04	49%	80% \$	4,698	\$ 1,842	\$ 2,856	
Animal Reproduction & Biotechno		Science	100%	41,288		\$6,171,637	1964		Jun-04	92%	85% \$	5 -	\$ -	\$ -	
Animal Science Shop		Farm Building	100%	2,560		\$70,663	1950		Jun-04	74%	80% \$	18,372	\$ 14,133	\$ 4,240	
Animal Sciences		Science	100%	40,412		\$4,774,808	1959		Jun-04	59%	85% \$	1,939,050	\$ 716,221	\$ 1,222,828	
Animal Shed		Farm Building	100%	576		\$10,576	1974		Jun-04	49%	80% \$	5,394	\$ 2,115	\$ 3,278	
Animal Shelter	-	Farm Building	100%	1,408		\$19,623	1985		Jun-04	49%	80% \$	10,008	\$ 3,925	\$ 6,083	
Animal Shelter		Farm Building	100%	913		\$12,720	1985		Jun-04	49%	80% \$	6,487	\$ 2,544	\$ 3,943	
Animal Shelter		Farm Building	100%	913		\$12,720	1985		Jun-04	49%	80% \$	6,487	\$ 2,544	\$ 3,943	
Animal Shelter		Farm Building	100%	800	513	\$3,035	1986		Jun-04	49%	80% \$	1,548	\$ 607	\$ 941	
Animal Shelter	-	Farm Building	100%	900		\$8,311	1993		Jun-04	49%	80% \$	4,238	\$ 1,662	\$ 2,576	
Animal Water Pump House		Farm Building	100%	300		\$75,000			Jun-04	95%	80% \$	-	\$ -	\$ -	
Aguatic Greenhouse		Science	100%	318		\$35,218	1993		Jun-04	64%	85% \$	12,678	\$ 5,283	\$ 7,396	
Arthropod-Borne & Infectious Dise		Science	100%	14,329		\$1,511,563	1964		Jun-04	71%	85% \$	436,237	\$ 226,734	\$ 209,503	Tage State
Athletic Storage		Physical Education	100%	536		\$5,164	1982		Jun-04	49%	85% \$	2,633	\$ 775	\$ 1,859	
Atmos. Science Annex		Science	100%	4,984		\$458,000	1967		Jun-04	86%	85% \$	-	\$ -	\$ -	
Atmos. Simulation	The second secon	Science	100%	10,260		\$1,885,534	1968		Jun-04	87%	85% \$	-	\$ -	\$ -	
Atmospheric Science		Science	100%	37,079		\$3,894,046	1967		Jun-04	72%	85% \$	1,079,040	\$ 584,107	\$ 494,933	
ATS/CIRA Research Center		Science	100%	14,260	1393	\$1,878,231	2002		Jun-04	100%	85% \$	- 1	\$ -	\$ -	
Auditorium Gymnasium	3209	Physical Education	100%	278,488		\$29,380,505	1966		Jun-04	72%	85% \$	8,294,116	\$ 4,407,076	\$ 3,887,041	
Aylesworth Hall		Classroom	100%	87,523		\$9,192,118	1956		Jun-04	61%	85% \$	3,563,784	\$ 1,378,818	\$ 2,184,966	
B.W. Pickett Equine Center	The second secon	Farm Building	100%	95,154		\$5,528,426	1994		Jun-04	81%	80% \$	-	\$ -	\$ -	
Barn		Farm Building	100%	1,031		\$29,863			Jun-04	27%	80% \$	21,693	\$ 5,973	\$ 15,720	
Barn		Farm Building	100%	957		\$27,720			Jun-04	49%	80% \$	14,137	\$ 5,544	\$ 8,593	
Barn		Farm Building	100%	2,063		\$59,756			Jun-04	78%	80% \$	13,248	\$ 11,951	\$ 1,297	
Baseball Dugouts		Physical Education	100%	528		\$24,954			Jun-04	49%	85% \$			\$ 8,983	
Baseball Scorers Box		Physical Education	100%	128		\$4,830			Jun-04	49%	85% \$				
Bio-environmental Hazards Rese		Science	100%	18,657		\$9,477,756			Jun-04	97%	85% \$			\$ -	
Blockhouse		Farm Building	100%	1,080		\$141,783			Jun-04	49%	80% \$			\$ 43,953	
	00001	arm Dunung	10070	28,000		\$612,714			Jun-04	88%	85% \$			\$ -	

Building Name	Div. Of Risk Man. No.	Occupancy Type	Funding %	G.S.F.	Vacant / Not Utilized G.S.F.	C.R.V.	Date Built	Date Acquired	Date of . Facility Audit	F.C.I. (Actual) A/FCI	F.C.I. (Target) T/FCI	CRV x (1- A/FCI) = A/DET	CRV X (1- T/FCI) = T/DET	0	Project
Boxcar	8007	Farm Building	100%	596	20	\$12,354	1088		Jun-04					Backlog	
Bulk/Soil Storage	7189	Farm Building	100%	10,800	20	\$153,907			Jun-04 Jun-04	34%	80%	THE PART OF PERSONS ASSESSMENT OF THE PART			
Bull Barn	3946	Farm Building	100%	6,830		\$197,833			-	93%	80% \$			\$ -	
Bunkhouse		Farm Building	100%	1,987		\$95,838			Jun-04 Jun-04	49%	80% \$				
Bunkhouse	3891	Farm Building	100%	400		\$19,293			-	59%	80% \$				
Bus Garage		Physical Plant Service	100%	3,500		\$135,051			Jun-04 Jun-04	78%	80% \$			1 100	
Cabin		Single Family Dwelling	100%	460		\$26,815				54%	85% \$				
Calf Shed		Farm Building	100%	480		\$13,903			Jun-04	49%	85% \$				
Calving Shed		Farm Building	100%	2,700		\$78,206			Jun-04	49%	80% \$				
Canine/Raptor		Hopital or Infirmay	100%	3,632		\$688,728			Jun-04	77%	80% \$				
Cattle Barn		Farm Building	100%	3,135		\$57,546			Jun-04	83%	90% \$		-		
Cattle Barn		Farm Building	100%	1.742		\$81,277			Jun-04	59%	80% \$				
Cattle Chute		Farm Building	100%	341	161				Jun-04	34%	80% \$				
Cattle Processing		Farm Building	100%	288	101	\$2,335 \$4,605			Jun-04	34%	80% \$				
Cattle Shed		Farm Building	100%	8,900		\$257,792			Jun-04	59%	80% \$				
Cattle Shed		Farm Building	100%	512		\$14,830			Jun-04	49%	80% \$				
Cattle Shed		Farm Building	100%	420					Jun-04	49%	80% \$				
Cattle Shed		Farm Building	100%	360		\$12,165			Jun-04	49%	80% \$			\$ 3,771	
Center for Envir Toxicology & Tech		Science	100%	14,676		\$10,428			Jun-04	49%	80% \$			\$ 3,233	
Central Mix/Diet Prep		Farm Building	100%	2,500		\$1,541,277			Jun-04	66%	85% \$			\$ 286,523	
Central Rec. Storage		Physical Plant Service	100%	4,203		\$250,000 \$110,455			Jun-04	95%	80% \$		\$ -	\$ -	
Central Rec. Storage		Physical Plant Service	100%	4,042		\$58,356			Jun-04	65%	85% \$	38,438		\$ 21,870	
Central Receiving		Physical Plant Service	100%	15,675					Jun-04	81%	85% \$	11,123			
Chemical Storage		Farm Building	100%	240		\$1,234,634 \$6,238			Jun-04	83%	85% \$	204,702			
Chemical Storage Unit		Farm Building	100%	144		\$48,131			Jun-04	49%	80% \$	3,182		\$ 1,934	
Chemistry		Science	100%	168,037		\$26,469,984			Jun-04	65%	80% \$	16,846			
Chilled Water Plant		Physical Plant Service	100%	3,482		\$348,200			Jun-04	77%	85% \$		\$ 3,970,498		De Trans
Chip Storage		Farm Building	100%	823		\$5,339			Jun-04	97%	95% \$		\$ - !		
Coal Shed		Farm Building	100%	77	567	\$583			Jun-04	49%	80% \$	2,723		\$ 1,655	
oll. Lake Pump Stat		Physical Plant Service	100%	414	307	\$54,658			Jun-04	34%	80% \$	385			
college Avenue Gym		Physical Education	100%	61,877		\$6,696,779			Jun-04	59%	85% \$	22,410			
omputer Cent. Annex		Science	100%	800		\$21,028			Jun-04	91%	85% \$	-			
onference Center		Other Academic Facility	100%	11.989		\$901,052			Jun-04	59%	85% \$	8,622		\$ 5,467	
oop Institute for Research in the		Science	100%	12,743		\$1,492,427			Jun-04	95%	85% \$	- :			
oors Pavilion	5468		100%	9,353		\$1,492,427			Jun-04	90%	85% \$	- /		5 -	
overed Bale Hay Shed		Farm Building	100%	3,750		\$60,000			Jun-04	99%	85% \$	- :			
ow/Calf Unit		arm Building	100%	14,214		\$180,000			Jun-04	95%	80% \$	- !	5 - 9	-	
SFS - Boulder Office	5195		100%	1,867		\$385,180			Jun-04	95%	80% \$	- !		-	
SFS - Boulder Shop		Farm Building	100%	1,573					Jun-04	98%	85% \$	- !	4	-	
SFS - Woodland Storage		arm Building	100%	2,304		\$27,218			Jun-04	98%	80% \$	- 5			
SFS Ft Morgan/Offc.	5144		100%	2,304		\$36,284			Jun-04	64%	80% \$	13,062			
SFS Pumphouse		arm Building	100%	64		\$236,307 \$2,235			Jun-04	64%	85% \$	85,070 \$			
SFS Woodland Main Office	5145		100%	1,848					Jun-04	49%	80% \$	1,140 \$			
SFS Woodland Office - # 1	7184		100%	609		\$235,064			Jun-04	64%	85% \$	84,623			
SFS-Alamosa/Shop		arm Building	100%	2.000		\$31,196			Jun-04	64%	85% \$	11,231 \$			
SFS-Canon City/Off.	3980 0		100%	1,440		\$31,488			Jun-04	64%	80% \$	11,336 \$		5,038	
SFS-Canon City/Stor	THE RESERVE AND ADDRESS OF THE PARTY OF THE	arm Building				\$186,157			Jun-04	86%	85% \$	- \$			
SFS-Durango/Office	5203 C		100%	2,400		\$37,788			Jun-04	95%	80% \$	- \$			
SFS-Durang o/Storage		arm Building	100%	1,821		\$231,777			Jun-04	64%	85% \$	83,440 \$		48,673	
	3905 F	ann building	100%	2,000		\$32,785	1978		Jun-04	49%	80% \$	16,720 \$	6,557 \$	10,163	

Building Name	Div. Of Risk Man. No.	Occupancy Type	Funding %	G.S.F.	Vacant / Not Utilized G.S.F.	C.R.V.	Built	Date Acquired	Date of Facility Audit	F.C.I. (Actual) A/FCI	F.C.I. (Target) T/FCI	CRV x (1- A/FCI) = A/DET	CRV X (1- T/FCI) = T/DET	A/DET-T/DET = Targeted Backlog	de
CSFS-Franktown Office/Garage	7939	Office	100%	3,540		\$103,584	1963		Jun-04	78%	85%	\$ 22,561	\$ 15,538	\$ 7,023	
CSFS-Golden/Trailer	3879	Farm Building	100%	1,525		\$32,561	1980		Jun-04	65%	80%				
CSFS-La Veta/Office	3982	Office	100%	775		\$12,704	1978		Jun-04	73%	85%				
CSFS-La Veta/Storage	3983	Farm Building	100%	720		\$11,336	1978		Jun-04	93%	80%		\$ -	\$ -	
Dairy Barn	3940	Farm Building	100%	5,825		\$168,723	1895		Jun-04	49%	80%				
Dairy Center	3448	Farm Building	100%	91,157		\$3,319,147	1981		Jun-04	75%	80%				
Danforth Chapel	3227	Chapel	100%	1,059		\$556,059	1954		Jun-04	72%	85%				
Digester Building	3460	Farm Building	100%	2,990		\$178,646	1983		Jun-04	49%	80% 3	The same of the sa			
Dog Holding Facility	5001	Science	100%	2,380		\$292,515	1988		Jun-04	79%	85% 3				
Dormitory	3832	Dormitory	100%	1,042		\$82,073			Jun-04	64%	85% \$				
Drying Shed	3688	Farm Building	100%	7,530		\$395,589	1961		Jun-04	49%	80% 5				
Dwelling 12	3931	Single Family Dwelling	100%	1,816		\$87,590	1920		Jun-04	59%	85% \$				
Dwelling 20	3937	Single Family Dwelling	100%	420		\$20,258	1962		Jun-04	59%	85% \$	8,306	\$ 3,039		
East Garages		Physical Plant Service	100%	3,572		\$56,196	-		Jun-04	49%	85% \$		The second secon		
East Valve House		Science	100%	280		\$20,964			Jun-04	49%	85% \$				
Education	3309	Classroom	100%	40,931		\$4,298,785	1964		Jun-04	83%	85% \$		The second secon		
Electric Shop		Physical Plant Service	100%	2,088		\$137,677			Jun-04	49%	85% \$				
Electrical Storage Shed		Farm Building	100%	392		\$10,302			Jun-04	49%	80% \$				
Engineer.Res.Valvehs		Science	100%	242		\$2,507	1967		Jun-04	49%	85% \$			\$ 902	
Engineer.Res.Valvehs		Science	100%	168		\$2,654			Jun-04	49%	85% \$				
Engineer.Res.Valvehs		Science	100%	217		\$2,248			Jun-04	49%	85% \$				
Engineering		Engineering	100%	211,410		\$90,041,814			Jun-04	91%	85% \$			\$ -	
Engineering South/Glover		Engineering	100%	52,823		\$7,642,953			Jun-04	88%	85% \$		\$ -	s -	
Engr. Renewal+Growth		Science	100%	1,551		\$101,800			Jun-04	64%	85% \$		\$ 15,270		
Engr. Res. Center		Engineering	100%	149,915		\$19,682,011	-		Jun-04	73%	85% \$				
Entomology Lab/Grnhs		Science	100%	2,127		\$123,053	1966		Jun-04	89%	85% \$			s -	
Environmental Health		Science	100%	18,173		\$1,908,595	1970		Jun-04	74%	85% \$	504,632	\$ 286,289	\$ 218,343	
rc Publication Trlr	3571		100%	720		\$11,747	1982		Jun-04	49%	85% \$		\$ 1,762		
xplosives Storage		Farm Building	100%	58		\$6,472	1975		Jun-04	49%	80% \$	3,301	\$ 1,294	\$ 2,006	
xplosives Storage		Farm Building	100%	58		\$6,472			Jun-04	49%	80% \$				
xplosives Storage		Farm Building	100%	37		\$4,129	1975		Jun-04	49%	80% \$				
acilities Maint.	3517 F	Physical Plant Service	100%	6,004		\$472,902	1940		Jun-04	64%	85% \$	170,245	\$ 70,935	\$ 99,309	
acilities Storage	3320 F	Physical Plant Service	100%	9,249		\$243,064	1927		Jun-04	49%	85% \$	123,963	\$ 36,460	\$ 87,503	
acilities Svc-North	3294	Office	100%	31,566		\$2,900,801	1957		Jun-04	77%	85% \$	652,970	\$ 435,120	\$ 217,850	
acilities Svc-South	3315 F	Physical Plant Service	100%	12,194		\$960,463	1957		Jun-04	74%	85% \$	249,528	\$ 144,069	\$ 105,459	
arm Shop	3941 F	Farm Building	100%	1,500		\$57,879	1920		Jun-04	49%	80% \$	29,518	\$ 11,576	\$ 17,942	
eed Storage	3858 F	Farm Building	100%	1,261		\$35,872	1983		Jun-04	49%	80% \$	18,295	\$ 7,174	\$ 11,120	
eed Storage	8832 F	Farm Building	100%	2,160		\$50,000	2000		Jun-04	95%	80% \$	-	\$ -	\$ -	
eedlot Units	8845 F	Farm Building	100%	10,417		\$200,000	2000		Jun-04	95%	80% \$	-	\$ - :	\$ -	
ertilizer Storage	7190 F	Farm Building	100%	800		\$28,980	1992		Jun-04	93%	80% \$	-	\$ - !	\$ -	
ire Trucks	3535 F	Physical Plant Service	100%	5,357	The second second	\$119,584	1974		Jun-04	49%	85% \$	60,988	\$ 17,938	\$ 43,050	
isheries Maint.	3620 F	arm Building	100%	3,829		\$189,342	1976		Jun-04	54%	80% \$	87,097	\$ 37,868	\$ 49,229	
lammable Liquids	3286 F	Physical Plant Service	100%	160		\$11,975	1977		Jun-04	69%	85% \$	3,712	1,796	\$ 1,916	
oaling Barn		arm Building	100%	586		\$15,403	1961		Jun-04	59%	80% \$	6,315	3,081	\$ 3,235	
ood Preparation		Hopital or Infirmay	100%	2,200		\$86,655	1968		Jun-04	85%	90% \$	12,894	8,666	\$ 4,229	. 1
oothils Fisheries Facility		Science	100%	4,649		\$623,183	2002		Jun-04	100%	85% \$	- !	5 - 5	\$ -	
orestry		Classroom	100%	27,046		\$2,840,511			Jun-04	50%	85% \$	1,411,166	426,077	\$ 985,089	
oundation Seed Proc	THE RESIDENCE OF THE PARTY OF T	arm Building	100%	2,482		\$130,392	1959		Jun-04	49%	80% \$	66,500	26,078	\$ 40,422	
oundation Seed Processing		arm Building	100%	8,726		\$291,272	1992		Jun-04	74%	80% \$	75,731 \$	58,254 \$	17,476	

Building Name	Div. Of Risk Man. No.	Occupancy Type	Funding %	G.S.F.	Vacant / Not Utilized G.S.F.	C.R.V.	Date Built	Date Acquired	Date of Facility Audit	F.C.I. (Actual) A/FCI	F.C.I. (Target) T/FCI	CRV x (1- A/FCI) = A/DET	CRV X (1- T/FCI) = T/DET	A/DET-T/DET = Targeted Backlog	Projects
Gail Holme's Orthopedic Resea	rch lab	Farm Building	100%	14,507		\$1,521,912	2002		Jun-04	100%	80% 5		\$ -	\$ -	
Garage	3938	Farm Building	100%	3,519		\$135,784			Jun-04	49%	80%		\$ 27,157	THE PARTY NAMED IN COLUMN TWO IS NOT THE PARTY N	
Garage	3969	Farm Building	100%	513	122	\$19,795			Jun-04	34%	80% \$	-			
Garage	3864	Farm Building	100%	436		\$16,823			Jun-04	67%	80% \$				
Garage	3916	Farm Building	100%	1,898		\$73,236			Jun-04	34%	80% \$				
Garage	3552	Farm Building	100%	1,185		\$25,345			Jun-04	59%	80% \$	The second secon			
Garage/Onion Drying	3971	Farm Building	100%	3,866	71	\$149,173			Jun-04	34%	80% \$				
Gas And Oil Building	3939	Farm Building	100%	240		\$9,261			Jun-04	49%	80% \$				
Gas House	3920	Farm Building	100%	204		\$7,872			Jun-04	85%	80% \$		\$ 1,052	\$ 2,871	
General Processing	7195	Farm Building	100%	24,771		\$1,154,520			Jun-04	93%	80% \$				
Gifford		Classroom	100%	92,278		\$8,179,135			Jun-04	74%			-		
Grain Bin	3894	Farm Building	100%	154		\$5,942			Jun-04	49%	80% \$	2,158,474			
Grain Bin	3823	Farm Building	100%	65		\$4,616			Jun-04	74%					
Grain Bin		Farm Building	100%	254		\$9,801			Jun-04	49%	80% \$				
Grain Bin		Farm Building	100%	154		\$5,942			Jun-04 Jun-04	49%	80% \$				
Grain Bin		Farm Building	100%	154		\$5,942			Jun-04	49%	80% \$				
Grain Bin		Farm Building	100%	257		\$3,857			Jun-04	49%	80% \$				
Grain Bin		Farm Building	100%	257		\$3,857			Jun-04 Jun-04	49%	80% \$				
Grain Bin		Farm Building	100%	257		\$3,857			Jun-04 Jun-04		80% \$.,	
Grain Bin		Farm Building	100%	154		\$2,183				49%	80% \$				
Grain Bin		Farm Building	100%	154		\$2,183			Jun-04 Jun-04	49%	80% \$				
Grain Bin		Farm Building	100%	384		\$75,097			Jun-04 Jun-04	49%	80% \$				
Grain Bin	-	Farm Building	100%	200		\$74,109			Jun-04	74%	80% \$.,	
Grain Bin		Farm Building	100%	540		\$61,140			Jun-04	74%	80% \$	-			
Grain Bin		Farm Building	100%	228		\$21,121			Jun-04	74%	80% \$				
Grain Bin		Farm Building	100%	314		\$12,214		-	Jun-04		80% \$	5,491			
Grain Bins		Farm Building	100%	128		\$17,276			Jun-04	74%	80% \$	3,176			
Grain Bins		Farm Building	100%	128		\$17,276			Jun-04	94%	80% \$			\$ -	
Grain Bins		Farm Building	100%	42		\$8,214		-		94%	80% \$		¥	\$ -	
Grain Bins		Farm Building	100%	42		\$8,214			Jun-04	94%	80% \$		-	\$ -	
Grain Bins		Farm Building	100%	21		\$2,053			Jun-04	94%	80% \$			\$ -	
Grain Storage		Farm Building	100%	1,833		\$48,180			Jun-04	94%	80% \$		1	\$ -	
Grain Storage		Farm Building	100%	133		\$3,784			Jun-04	49%	80% \$	24,572			
Frain Storage		Farm Building	100%	133		\$3,784			Jun-04	49%	80% \$	1,930			
ranary		Farm Building	100%	3,000		\$115,758			Jun-04	49%	80% \$	1,930		.,,,,	
reen Hall	3197		100%	18,755		\$1,723,448			Jun-04	49%	80% \$	59,036			
reenhouse	-	Science	100%	1,105		\$72,530			Jun-04	84%	85% \$	275,752			
reenhouse	-	Science	100%	1,105					Jun-04	39%	85% \$	44,243			
reenhouse		Science	100%	1,000		\$46,494 \$38,584			Jun-04	77%	85% \$	10,763			
reenhouse	The second second second second	Science							Jun-04	85%	85% \$	5,903			
reenhouse		Science	100%	960		\$12,614			Jun-04	49%	85% \$	6,433	The second secon		
reenhouse		Science	100%	960		\$12,614			Jun-04	49%	85% \$	6,433			
reenhouse		Farm Building	100%	960		\$12,614			Jun-04	49%	85% \$	6,433		and the same of th	
reenhouse No. 6		Science		1,467		\$56,603			Jun-04	87%	80% \$	-			
reenhouse No. 7	-	Science	100%	264		\$10,397	-		Jun-04	39%	85% \$	6,342			
reenhouse/Headhouse	-		100%	264		\$10,397			Jun-04	39%	85% \$	6,342			
round Storage		Science Form Building	100%	10,027		\$219,272			Jun-04	64%	85% \$	78,938			
uggenheim Hall	-	Farm Building	100%	634		\$7,602			Jun-04	49%	80% \$	3,877			
ay Barn		Classroom Farm Building	100%	16,735 2,560		\$1,537,825 \$84,394			Jun-04 Jun-04	43%	85% \$ 80% \$	872,100	230,674	\$ 641,427	

Building Name	Div. Of Risk	Occupancy Type	Funding %	G.S.F.	Vacant / Not	C.R.V.	ate	Date	Date of	F.C.I.	F.C.I.	CRV x (1-	CRV X (1-	A/DET-T/DET =	de
	Man. No.				Utilized G.S.F.		Built	Acquired	Facility Audit	(Actual) A/FCI	(Target) T/FCI	A/FCI) = A/DET	T/FCI) = T/DET	Targeted Backlog	Projects
Hay Barn	8831	Farm Building	100%	5,615		\$19,913			Jun-04	98%	80%		\$ -	\$ -	
Hay Feed Bunker	8840	Farm Building	100%	4,290		\$25,000	2000		Jun-04	95%	80%	\$ -	\$ -	\$ -	
Hay Feed Bunker	8841	Farm Building	100%	2,119		\$9,109	2000		Jun-04	94%	80%	\$ -	\$ -	\$ -	
Hay Shed	3456	Farm Building	100%	3,684		\$111,574	1957		Jun-04	49%	80%	\$ 56,903	\$ 22,315	\$ 34,588	
Hay Shed	3457	Farm Building	100%	3,684		\$96,834	1957		Jun-04	49%	80%	\$ 49,385	\$ 19,367	\$ 30,019	
Hay Shed	3459	Farm Building	100%	8,500		\$98,834	1981		Jun-04	49%	80%	\$ 50,406	\$ 19,767	\$ 30,639	
Hay Shed	3458	Farm Building	100%	8,500		\$98,834	1981		Jun-04	49%	80%	\$ 50,406	\$ 19,767	\$ 30,639	
Hay Shed	7938	Farm Building	100%	12,000		\$89,933	1998		Jun-04	49%	80%	\$ 45,866	\$ 17,987	\$ 27,879	
Hay Storage	3623	Farm Building	100%	9,496		\$174,353	1954		Jun-04	49%	80%	\$ 88,920	\$ 34,871	\$ 54,049	
Hazardous Chemical Storage	7961	Farm Building	100%	257		\$40,685	1999		Jun-04	70%	80%	12,206	\$ 8,137	\$ 4,069	
Hazardous Waste	3325	Physical Plant Service	100%	910		\$179,996	1983		Jun-04	88%	95%	21,528	\$ 9,000	\$ 12,528	
Hazardous Waste	3326	Physical Plant Service	100%	2,500		\$47,261	1984		Jun-04	87%	95%	6,324	\$ 2,363	\$ 3,960	
Headhouse/Insectary		Science	100%	1,598		\$123,314	1962		Jun-04	90%	85%	5 -	\$ -	\$ -	
Headquarters		Office	100%	8,560		\$899,002	1958		Jun-04	87%	85%	5 -	\$ -	\$ -	
Headquarters	-	Farm Building	100%	2,357		\$247,541	1969		Jun-04	74%	80%	64,361	\$ 49,508	\$ 14,852	
Heating Plant		Physical Plant Service	100%	19,416		\$16,034,558	1915		Jun-04	92%	95% \$	1,242,678	\$ 801,728	\$ 440,950	
Home Management		Office	100%	4.331		\$341,132	1925		Jun-04	64%	85% \$	122,808	\$ 51,170	\$ 71,638	
Horse Barn		Farm Building	100%	6,196		\$179,469	1920		Jun-04	49%	80% \$	91,529	\$ 35,894	\$ 55,635	
Horse Barn		Farm Building	100%	1,708		\$44,895	1958		Jun-04	49%	80% \$	22,896	\$ 8,979	\$ 13,917	
Horse Barn and Animal Food Bar		Hopital or Infirmay	100%	45,194		\$3,327,950	1979		Jun-04	77%	90% \$	750,120	\$ 332,795	\$ 417,325	
Horse Shelter		Farm Building	100%	1,320		\$19,536	1986		Jun-04	59%	80% \$	8,010	\$ 3,907	\$ 4,103	
Horse Shelter		Farm Building	100%	1,320		\$19,536	1986		Jun-04	59%	80% \$	8,010	\$ 3,907	\$ 4,103	
Horse Shelter		Farm Building	100%	1,320		\$19,536	1986		Jun-04	59%	80% \$	8,010	\$ 3,907	\$ 4,103	
Horse Shelter		Farm Building	100%	1,320		\$19,536	1986		Jun-04	59%	80% \$	8,010	\$ 3,907	\$ 4,103	
Horse Shelter		Farm Building	100%	1,320		\$19,536	1986		Jun-04	59%	80% \$	8,010	\$ 3,907	\$ 4,103	
Hort. Quonset-North		Instructional Shop	100%	3.099		\$203,403	1954		Jun-04	39%	85% \$	124,076	\$ 30,510	\$ 93,565	
Hort. Quonset-South		Instructional Shop	100%	3,188		\$209,244	1954		Jun-04	39%	85% \$	127,639	\$ 31,387	\$ 96,252	
Hort. Storage Shed		Farm Building	100%	1,156		\$18,186	1976		Jun-04	49%	80% \$	9,275	\$ 3,637	\$ 5,638	
Horticulture Garage		Farm Building	100%	768		\$40,344	1976		Jun-04	49%	80% \$	20,575	\$ 8,069	\$ 12,507	
Hughes Stadium		Physical Education	100%	40,867		\$16,168,956	1968		Jun-04	73%	85% \$	4,326,813	\$ 2,425,343	\$ 1,901,469	
Hydro-Machinery Lab	According to the last of the l	Engineering	100%	16,826		\$1,767,128	1966		Jun-04	74%	85% \$	467,405	\$ 265,069	\$ 202,336	
Industrial Sci. Labs		Instructional Shop	100%	20,246		\$1,860,460	1925		Jun-04	75%	85% \$	459,906	\$ 279,069	\$ 180,837	
Industrial Sciences		Instructional Shop	100%	28,009		\$2,573,861	1884		Jun-04	76%	85% \$	622,102	\$ 386,079	\$ 236,023	
Insectary		Science	100%	188		\$14,508	1966		Jun-04	70%	85% \$	4,413	\$ 2,176	\$ 2,237	
Insectary		Science	100%	4,313		\$452,967	1967		Jun-04	71%	85% \$	133,172	\$ 67,945	\$ 65,227	
Inst Serv Maint Shop		Physical Plant Service	100%	220		\$108,695	1989		Jun-04	64%	85% \$	39,130	\$ 16,304	\$ 22,826	
Intensive Mornogastric Ruminant I		Science	100%	9,000		\$600,000	2000		Jun-04	95%	85% \$	-	\$ -	\$ -	
rigation House		Farm Building	100%	80		\$1,513	1980		Jun-04	73%	80% \$	408	\$ 303	\$ 106	
rradiation Site		Science	100%	2,627		\$275,901	1967		Jun-04	59%	85% \$	113,119	\$ 41,385	\$ 71,734	
rrigation Filter		Physical Plant Service	100%	242	100000000000000000000000000000000000000	\$3,842	1984		Jun-04	59%	85% \$	1,575	\$ 576	\$ 999	
solation Barn		Hopital or Infirmay	100%	2,109		\$155,300	1979		Jun-04	75%	85% \$	38,219	\$ 23,295	\$ 14,924	
solation Shed		Farm Building	100%	2,367		\$50,632	1977	17.526.53	Jun-04	59%	80% \$	20,759	\$ 10,126	\$ 10,633	
J.V.K. Wagar		Science	100%	48,160		\$6,071,060	1939		Jun-04	53%	85% \$	2,832,757	\$ 910,659	\$ 1,922,098	
Johnson Hall		Classroom	100%	48,013		\$5,042,501	1936		Jun-04	77%	85% \$	1,153,724			
. L. Gibbons		Instructional Shop	100%	14,084		\$1,479,105			Jun-04	97%	85% \$	-	\$ -	\$ -	
_ab/Storage		Farm Building	100%	1,004		\$38,740	1945		Jun-04	49%	80% \$	19,758	\$ 7,748	\$ 12,009	
ab/Storage		Science	100%	2,809	1898	\$162,509			Jun-04	87%	85% \$		\$ -	\$ -	
_aboratory/Office		Science	100%	6,042		\$378,964			Jun-04	88%	85% \$	-	\$ -	\$ -	
aboratory/Offices	3885		100%	4,132		\$396,078			Jun-04	87%	85% \$	-	\$ -	\$ -	

Building Name	Div. Of Risk Man. No.	Occupancy Type	Funding %	G.S.F.	Vacant / Not Utilized G.S.F.	C.R.V.	Date Built	Date Acquired	Date of Facility Audit	F.C.I. (Actual) A/FCI	F.C.I. (Target) T/FCI	CRV x (1- A/FCI) = A/DET	CRV X (1- T/FCI) = T/DET	A/DET-T/DET = Targeted Backlog	Projects
Lake St. Greenhouses	3359	Science	100%	19,398		\$1,273,239	1949		Jun-04	59%	85%	525,211	\$ 190,986	0	
Larimer Fire Cache	3547	Farm Building	100%	2,050		\$84,463	1980		Jun-04	49%	80%				
Laurel Hall	3232	Physical Plant Service	100%	14,780		\$1,358,195	1884		Jun-04	99%	85% 5			\$ -	
Library		Library	100%	4,277		\$206,290	1938		Jun-04	59%	85% \$	AND THE RESIDENCE AND ADDRESS OF THE PARTY O	-	\$ 53.635	
Livestock Shed	3598	Farm Building	100%	672		\$17,194	1980		Jun-04	49%	80% 5			\$ 5,330	
Lockman Granary	7970	Farm Building	100%	1,600		\$26,767	1999		Jun-04	93%	80% 5			\$ -	
Lockman Machine Shed / Shop	7967	Farm Building	100%	2,045		\$24,260	1999		Jun-04	93%	80% \$		-	\$ -	
Lockman Pump House	8837	Farm Building	100%	10		\$107	1999		Jun-04	49%	80% \$	THE RESERVE THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAMED IN COLUMN TWO I		\$ 33	
Lockman Shop and Equipment	7966	Farm Building	100%	5,090		\$151,556	1999		Jun-04	93%	80% \$		\$ -	\$ -	
Lockman Utility Shed	7969	Farm Building	100%	263		\$2,816	1999		Jun-04	93%	80% \$	THE REAL PROPERTY AND ADDRESS OF THE PARTY AND		\$ -	
Louis R. Weber	3222	Science	100%	55,225		\$5,799,744	1922		Jun-04	92%	85% \$			\$ -	
Lrg.Anim.Rehab.Unit	3469	Hopital or Infirmay	100%	3,900		\$134,730	1986		Jun-04	74%	90% \$		arriver was a second of the se		
Machine Shed	3970	Farm Building	100%	2,027	1555	\$78,214	1946		Jun-04	34%	80% \$	-		\$ 35,978	
Machine Shed	3975	Farm Building	100%	1,555		\$60,001	1948		Jun-04	34%	80% \$			\$ 27.601	
Machine Shed	3548	Farm Building	100%	3,340		\$61,325			Jun-04	49%	80% \$				
Machine Shed	3689	Farm Building	100%	7,459		\$365,491	1963		Jun-04	49%	80% \$			\$ 113,302	
Machine Shed	3883	Farm Building	100%	3,007		\$116,028	1967		Jun-04	92%	80% \$			\$ -	
Machine Shed	5002	Farm Building	100%	293		\$3,809			Jun-04	49%	80% \$	The same of the sa	The second secon	\$ 1,181	
Machine Shed	7188	Farm Building	100%	30,000		\$298,364	1992		Jun-04	93%	80% \$			\$ 1,101	
Machine Shed	5186	Farm Building	100%	2,400		\$48,180	1998		Jun-04	49%	80% \$		-	\$ 14.936	
Machine Shop	3914	Farm Building	100%	4,381		\$169,045	1964		Jun-04	91%	80% \$			\$ 14,930	
Machine Shop	3889	Farm Building	100%	1,024		\$39,512			Jun-04	89%	80% \$			\$ -	
Madison Macdonald Observatory	3297	Science	100%	687		\$135,288			Jun-04	88%	85% \$			\$ -	
Maintenance Garage	3449	Other Academic Facility	100%	1,212		\$44,130			Jun-04	84%	85% \$	The state of the s		\$ 658	
Maintenance Garage	3672	Farm Building	100%	1,017		\$23,124	1981		Jun-04	49%	80% \$			\$ 7,168	
Mare Barn	3635	Farm Building	100%	5,167		\$135,815	1973	7	Jun-04	59%	80% \$	The state of the s			
Mare Barn	5167	Farm Building	100%	13,000		\$225,000	1999		Jun-04	49%	80% \$				
Mary and Robert Flint Cancer Cer	9400	Hopital or Infirmay	100%	35,217		\$7,124,880			Jun-04	100%	90% \$			\$ 09,750	
MC Substation	7175	Physical Plant Service	100%	546		\$499,145	1967		Jun-04	55%	85% \$			\$ 149,744	
Meat Packing Plant	7484	Science	100%	5,139		\$531,872			Jun-04	74%	85% \$				
Microbiology	3310	Science	100%	85,131		\$11,176,662			Jun-04	76%	85% \$				
Military Annex	3284	Classroom	100%	6,730		\$441,741			Jun-04	28%	85% \$				
Military Sciences	3282	Classroom	100%	13,814		\$1,269,425			Jun-04	49%	85% \$	650,580			
Model 10 Pest. Strg.	7344	Farm Building	100%	63		\$12,479			Jun-04	49%	80% \$	6,364			
Modular Office	3550	Office	100%	646		\$33,935	1974		Jun-04	81%	85% \$	6,336			
Mol. & Rad. Biosci.	5003	Science	100%	87,670		\$15,198,890	1989		Jun-04	92%	85% \$			\$ -	
Monkey House	3662	Science	100%	369		\$33,909	1964		Jun-04	64%	85% \$	12,207		T	
Morgan Library	3275	Library	100%	299.584		\$33,261,231			Jun-04	94%	85% \$		\$ -		
Motor Performance		Farm Building	100%	800		\$52,508			Jun-04	49%	80% \$	26,779			
Motor Pool Storage	3313	Physical Plant Service	100%	268		\$4,438			Jun-04	49%	85% \$	2,264			
Music	3224	Fine Arts	100%	31,370		\$3,294,592	1927		Jun-04	49%	85% \$		\$ 494,189		
Nat Resource Res Lab	3263	Office	100%	4,000		\$420,095	1968		Jun-04	69%	85% \$	130,229			
Natural & Environmental Services		Science	100%	77,000		\$10,957,423			Jun-04	87%	85% \$	-			
Natural Resources	3262	Classroom	100%	73,027		\$8,211,377			Jun-04	82%	85% \$		\$ 1,231,707		
New Cellar		Farm Building	100%	9,033		\$348,547	-		Jun-04	89%	80% \$		\$ 1,231,707		
North Classroom		Classroom	100%	2,545		\$267,285			Jun-04	74%	85% \$	69,494			
Nursery		Farm Building	100%	28,983		\$2,663,327			Jun-04	79%	80% \$	559,299			
Nursery Storage	THE RESERVE THE PERSON NAMED IN	Farm Building	100%	2,472	1037	\$63,600	-		Jun-04	49%	80% \$	32,436			
Occupational Therapy		Classroom	100%	22,104	1007	\$2,321,368			Jun-04	86%	85% \$	32,430		The san beautiful to the san and the san a	

6 of 30

Building Name	Div. Of Risk Man. No.	Occupancy Type	Funding %	G.S.F.	Vacant / Not Utilized G.S.F.	C.R.V.	Built	Date Acquired	Date of Facility Audit	F.C.I. (Actual) A/FCI	F.C.I. (Target) T/FCI	CRV x (1- A/FCI) = A/DET	CRV X (1- T/FCI) = T/DET	A/DET-T/DET = Targeted Backlog	Projects
Occupation al Therapy Annex	3240	Physical Plant Service	100%	984		\$64,878	1910		Jun-04	96%	85%		\$ -	\$ -	
Office		Office	100%	590		\$31,985	-		Jun-04	64%	85%		-		
Office		Office	100%	909		\$43,843	-		Jun-04	51%	85%				
Office		Office	100%	1,228		\$64,513			Jun-04	49%	85%	AT THE RESIDENCE OF THE PARTY O			
Office		Office	100%	2,304		\$100,895			Jun-04	88%	85%			\$ 23,225	
Office Building		Office	100%	2,333		\$134,125			Jun-04	64%	85%		*		
Office/Lab		Office	100%	5.714	3053	\$303,197	-		Jun-04	34%	85%		The state of the s		
Office/Lab		Office	100%	4,236		\$266,888	-		Jun-04	75%	85%				
Office/Laboratory		Office	100%	4,826		\$302,675			Jun-04	70%	85%				
Office/Machine Shop		Office	100%	1.696		\$73,633			Jun-04	90%	85%				
Office/Shop		Farm Building	100%	2,400		\$115,758			Jun-04	91%	80%			\$ - \$ -	
Office-Residence Anx		Office	100%	1,749		\$114,795			Jun-04	59%	85%		-		
Old Fort Collins High School		Classroom	100%	143,399	143399	\$17,763,286		1997	Jun-04 Jun-04	59%				And the second s	
Old Fort Collins High School - An		Office	100%	18,025	7723	\$2,305,573		1997	Jun-04 Jun-04	75%	85%	\$ 7,327,356			
Old Fort Collins High School - An		Classroom	100%	1,083	1123	\$51,194	-	1997	Jun-04 Jun-04	75%	85%				
						\$54,717		1997	Jun-04 Jun-04						
Old Fort Collins High School - Lav		Farm Building	100%	1,874		\$8,588		4007		49%	80%				
Old Fort Collins High School - Sto		Physical Plant Service	100%	370				1997	Jun-04	65%	85%				
Onion Storage		Farm Building	100%	1,600	500	\$61,737 \$28,414			Jun-04	88%	80%			\$ -	
Original Barn		Farm Building	100%	609	596				Jun-04	34%	80%				
Outhouse		Farm Building	100%	20	77	\$1,166 \$56,528			Jun-04	34%	80%			The second secon	
Packing Shed		Farm Building	100%	1,465					Jun-04	49%	80%				
Paint Shop		Physical Plant Service	100%	2,417		\$63,531			Jun-04	80%	85% \$				
Painter Center		Science	100%	31,139		\$3,608,614			Jun-04	84%	85% \$				
Palpation Chutes		Farm Building	100%	1,200		\$150,000			Jun-04	95%	80% \$			\$ -	
Palpation Chutes	The second secon	Farm Building	100%	600		\$100,000			Jun-04	95%	80% \$			\$ -	
Pathology		Science	100%	58,902		\$6,929,299			Jun-04	82%	85% \$		-	\$ 202,336	
Pesticide Shed		Farm Building	100%	153		\$27,402			Jun-04	94%	80% \$			\$ -	
Pesticide Storage		Farm Building	100%	240		\$61,395			Jun-04	93%	80% \$			\$ -	
Pesticide Storage		Farm Building	100%	222		\$32,676	-		Jun-04	75%	80% \$			\$ 1,634	
Pesticide Storage		Farm Building	100%	290		\$39,700			Jun-04	94%	80% \$			\$ -	
Pesticide Storage		Farm Building	100%	290		\$39,700			Jun-04	94%	80% \$		T	\$ -	
Pesticide Storage		Farm Building	100%	222		\$32,676			Jun-04	94%	80% \$		T	\$ -	
Pesticide Storage		Farm Building	100%	153		\$27,402			Jun-04	98%	80% \$			\$ -	
Pesticide Storage		Farm Building	100%	153		\$27,402			Jun-04	94%	80% \$			\$ -	
Pesticide Storage		Farm Building	100%	153		\$27,402			Jun-04	94%	80% \$		·	\$ -	
Pesticide Storage		Farm Building	100%	153		\$27,402			Jun-04	94%	80% \$			\$ -	
Pesticide Storage E		Farm Building	100%	320		\$52,694			Jun-04	93%	80% \$		CONTRACTOR OF THE PROPERTY OF THE PARTY OF T	\$ -	
Pesticide Storage N		Farm Building	100%	320		\$52,694			Jun-04	93%	80% \$			\$ -	
Photo Barn		Farm Building	100%	2,886		\$52,989			Jun-04	59%	80% \$	21,725			
Physiology		Science	100%	64,740		\$8,499,249			Jun-04	69%			\$ 1,274,887		
Picnic Shelter		Farm Building	100%	422		\$2,333			Jun-04	59%	80% \$	957	and the same of th		
Plant Sciences		Science	100%	82,725		\$9,774,163			Jun-04	50%			1,466,124		
Pole Barn		Farm Building	100%	2,400		\$69,517			Jun-04	49%	80% \$	35,454			
Pole Barn		Farm Building	100%	1,400		\$40,551			Jun-04	49%	80% \$	20,681		The state of the s	
Pole Barn	3953	Farm Building	100%	2,800		\$81,103			Jun-04	49%	80% \$	41,363			
Pole Barn		Farm Building	100%	2,880		\$102,439			Jun-04	91%	80% \$	- !			
Pole Barn	8838	Office	100%	1,800		\$19,344	-		Jun-04	98%	85% \$	- !			
otato Cellar	3972	arm Building	100%	3,053		\$117,803	**********		Jun-04	34%	80% \$	77,750	23,561	54,189	
Potting Shed	3235 5	Science	100%	498		\$32,688	1896		Jun-04	89%	85% \$	-	- 5	5 -	

Building Name	Div. Of Risk	Occupancy Type	Funding %	G.S.F.	Vacant / Not	C.R.V.	ate	Date	Date of I	F.C.1	501	001/		I	-
Suitable Market	Man. No.	Cocapancy Type	ruliding %	G.S.F.	Utilized G.S.F.	C.R.V.	Built	Acquired		F.C.I. (Actual) A/FCI	F.C.I. (Target) T/FCI	CRV x (1- A/FCI) = A/DET	CRV X (1- T/FCI) = T/DET	A/DET-T/DET = Targeted Backlog	Projects
Processing	3839	Farm Building	100%	6,735		\$265,283	1955	2 20	Jun-04	59%	80% \$		\$ 53,057		
Processing	3690	Farm Building	100%	4,000		\$210,140	Acres de la companya del la companya de la companya		Jun-04	49%	80% \$				
Project Lab	3524	Science	100%	1,471		\$31,462	-		Jun-04	59%	85% \$				
Pump House	3949	Farm Building	100%	640		\$24,695			Jun-04	49%	80% \$				
Pump House	3973	Farm Building	100%	122	-		1936		Jun-04	34%	80% \$				
Pump House	3827	Farm Building	100%	36			1950		Jun-04	49%	80% \$				
Pump House	3915	Farm Building	100%	237		\$9,145			Jun-04	85%	80% \$			\$ -	
Pump House		Farm Building	100%	83		\$1,524	-		Jun-04	49%	80% \$				
Pump House		Farm Building	100%	249		\$65,379			Jun-04	49%	80% \$				
Pump House		Farm Building	100%	49		\$1,288			Jun-04	49%	80% \$				
Pump House	THE RESERVE AND ADDRESS OF THE PARTY OF THE	Farm Building	100%	300		\$10,445	-		Jun-04	49%	80% \$				
Pump House		Farm Building	100%	112		\$2,056			Jun-04	49%	80% \$				
Pump House		Farm Building	100%	462		\$11,432			Jun-04	49%	80% \$				
Pump House		Farm Building	100%	100		\$3,411			Jun-04	49%	80% \$				
Pump House		Farm Building	100%	177		\$3,198			Jun-04	48%	80% \$				
Pump House		Farm Building	100%	74		\$1,337			Jun-04	48%	80% \$				
Pump House	-	Farm Building	100%	50			1980	-	Jun-04	48%	80% \$				
Pump House	-	Farm Building	100%	16			1980		Jun-04	48%	80% \$				
Pump House		Farm Building	100%	39		\$3,607			Jun-04	17%	80% \$				
Pump House		Farm Building	100%	81		\$1,487			Jun-04	49%	80% \$				
Pump House		Farm Building	100%	50		\$18,000	-		Jun-04	95%	80% \$			\$ 461 \$ -	
Pump House		Farm Building	100%	50			2000		Jun-04	95%	80% \$		-	-	
Pump House		Farm Building	100%	50			2000		Jun-04	95%	80% \$		·		
Quonset		Farm Building	100%	1,003		\$26,364			Jun-04	49%	80% \$	13,446	The state of the s	\$ -	
Quonset		Farm Building	100%	988		\$25,970			Jun-04	49%	80% \$				
R.E.P.E.A.T. Facility		Office	100%	2,963		\$202,027			Jun-04	81%	85% \$	38,506			
Rad. Genetics Bldg.		Physical Plant Service	100%	510		\$20,088			Jun-04	59%	85% \$	8,236			
Radiation Control		Science	100%	125		\$16,410			Jun-04	59%	85% \$	6,728			
Radiation Waste		Farm Building	100%	2.560		\$47,003			Jun-04	49%	80% \$	23,972			
Radome		Science	100%	3,706		\$160,994			Jun-04	49%	85% \$	82,107			
Rainfall Facility		Science	100%	2,914		\$76,595			Jun-04	49%	85% \$	39,063			
Ram Flying Club		Other Academic Facility	100%	293		\$23,078			Jun-04	49%	85% \$	11,770			
Raptor Cage		Farm Building	100%	2,807		\$5,828			Jun-04	49%					
Research Building		Science	100%	882		\$32,480			Jun-04	59%	80% \$ 85% \$	2,972 13,317			
Residence		Single Family Dwelling	100%	4,064	3866	\$196,017			Jun-04	34%	85% \$	129,371			
Residence		Single Family Dwelling	100%	2,669	3000	\$172,000			Jun-04	74%	85% \$	44,720			
Residence		Single Family Dwelling	100%	2,550		\$122,993			Jun-04	49%	85% \$	62,726			
Residence		Single Family Dwelling	100%	1,615		\$127,205			Jun-04	64%	85% \$	45,794			
Residence/Duplex		Single Family Dwelling	100%	3,169	2027	\$152,849			Jun-04	64%	85% \$	55,025			
Residence-Environmental Learnin		Single Family Dwelling	100%	942	2021	\$63,731			Jun-04	69%	85% \$	19,757			
Restroom		Farm Building	100%	57	1742	\$1,946			Jun-04 Jun-04	69%	80% \$	603			
River Model Facility		Science	100%	5,212	1142	\$101,297			Jun-04	59%	85% \$	41,532			
Rockwell Hall	3199		100%	61,198		\$10,109,001			Jun-04	95%	85% \$			\$ 26,337 \$ -	
Routt Hall	3234		100%	4,918		\$659,945			Jun-04 Jun-04	93%	85% \$		-	-	
Run-In-Barn		Farm Building	100%	567	341	\$9,378	material and the same of the	-	Jun-04 Jun-04	34%	THE OWNER THE THE PERSON NAMED IN COLUMN				
Runway Light Control				148	341	\$3,890					80% \$	6,190			
		Other Academic Facility	100%						Jun-04	49%	85% \$	1,984			
Sage Hall Sawmill		Science	100%	7,038		\$1,142,498			Jun-04	86%	85% \$	The second secon		\$ -	
		Farm Building	100%	2,242		\$25,982			Jun-04	49%	80% \$	13,251			
Scale House	3945	Farm Building	100%	795		\$30,676	1970		Jun-04	49%	80% \$	15,645	\$ 6,135	\$ 9,510	

Building Name	Div. Of Risk	Occupancy Type	Funding %	G.S.F.	Vacant / Not	C.R.V.	ate	Date	Date of	F.C.I.	F.C.I.	CRV x (1-	CRV X (1-	A/DET-T/DET =	e
building Harric	Man. No.	Coodpane, 1, pc			Utilized		Built	Acquired	Facility Audit	(Actual)	(Target)	A/FCI) =	T/FCI) = T/DET	Targeted	Projects
					G.S.F.					A/FCI	T/FCI	A/DET		Backlog	
Scale House	3963	Farm Building	100%	336	5714	\$12,965	1976		Jun-04	49%	80%	\$ 6,612	\$ 2,593	\$ 4,019	
Scale House	8833	Farm Building	100%	100		\$3,000	2000		Jun-04	95%	80%	\$ -	\$ -	\$ -	
Seed Conditioning		Farm Building	100%	7,000		\$306,201	1982		Jun-04	91%	80%	\$ -	\$ -	\$ -	
Semen Collect. Shed		Farm Building	100%	2,528		\$66,449	1975		Jun-04	59%	80%	\$ 27,244	\$ 13,290	\$ 13,954	
Settling Tank	3461	Farm Building	100%	930		\$11,454	1983		Jun-04	49%	80%	\$ 5,842	\$ 2,291	\$ 3,551	
Sewage Chlorination	3661	Physical Plant Service	100%	66		\$1,212	1960		Jun-04	49%	85%	\$ 618	\$ 182	\$ 436	
Sewage Treatment Fac	3817	Physical Plant Service	100%	4,028		\$742,437	1974		Jun-04	64%	85%	\$ 267,277	\$ 111,366	\$ 155,912	
Shaving Shed	3649	Farm Building	100%	546		\$20,106	1979		Jun-04	49%	80%	\$ 10,254	\$ 4,021	\$ 6,233	
Shed	3660	Farm Building	100%	630		\$11,567	1968		Jun-04	49%	80%	\$ 5,899	\$ 2,313	\$ 3,586	
Shed		Farm Building	100%	630		\$11,567	1968		Jun-04	49%	80%	\$ 5,899	\$ 2,313	\$ 3,586	
Shed	3658	Farm Building	100%	630		\$11,567	1968		Jun-04	49%	80%	\$ 5,899	\$ 2,313	\$ 3,586	
Shed		Farm Building	100%	391		\$7,179	1968		Jun-04	49%	80%	\$ 3,661	\$ 1,436	\$ 2,225	
Shed		Farm Building	100%	391		\$7,179	1968		Jun-04	49%	80%	\$ 3,661	\$ 1,436	\$ 2,225	
Shed	3836	Farm Building	100%	580		\$10,649	1969		Jun-04	49%	80%	\$ 5,431	\$ 2,130	\$ 3,301	
Shed		Farm Building	100%	576		\$10,576	1969		Jun-04	49%	80%	\$ 5,394	\$ 2,115	\$ 3,278	
Sheep Facility		Farm Building	100%	7,500		\$136,173	1985		Jun-04	49%	80%	\$ 69,448	\$ 27,235	\$ 42,214	
Sheep Shed		Farm Building	100%	3,418		\$62,757	1953		Jun-04	49%	80%	\$ 32,006	\$ 12,551	\$ 19,455	
Sheep Shed		Farm Building	100%	145		\$4,200	1975		Jun-04	49%	80%	\$ 2,142	\$ 840	\$ 1,302	
Sheep Shed		Farm Building	100%	2,652		\$61,885	1976		Jun-04	49%	80%	\$ 31,561	\$ 12,377	\$ 19,184	
Sheep Unit		Farm Building	100%	14,447		\$550,000	2000		Jun-04	95%	80%	\$ -	\$ -	\$ -	
Shelter		Farm Building	100%	617		\$5,952	1955		Jun-04	49%	80%	3,035	\$ 1,190	\$ 1,845	
Shelter		Farm Building	100%	617		\$5,952	1955		Jun-04	49%	80%	3,035	\$ 1,190	\$ 1,845	
Shelter		Farm Building	100%	509		\$4,910	1955		Jun-04	49%	80%	2,504	\$ 982	\$ 1,522	
Shelter		Farm Building	100%	924		\$9,916	1970		Jun-04	49%	80%	5,057	\$ 1,983	\$ 3,074	
Shelter	7166	Farm Building	100%	924		\$9,916	1970		Jun-04	49%	80%	5,057			
Shelter	3677	Farm Building	100%	432		\$4,771	1985		Jun-04	49%	80%				
Shelter	3674	Farm Building	100%	432		\$4,771	1985		Jun-04	49%	80%				
Shelter	3673	Farm Building	100%	432		\$4,771			Jun-04	49%	80%			\$ 1,479	
Shepardson	3281	Classroom	100%	47,354		\$5,594,992	1939		Jun-04	58%	85%	2,368,360			
Shop	3532	Physical Plant Service	100%	6,916		\$544,735	1961		Jun-04	71%	85% \$				
Shop	3957	Farm Building	100%	1,600		\$51,897			Jun-04	91%	80% \$		\$ -	\$ -	
Shop And Shed	3905	Farm Building	100%	2,448		\$94,458			Jun-04	91%	80% \$			\$ -	
Shop Hangar	3514	Other Academic Facility	100%	6,022		\$474,320			Jun-04	49%	85% \$				
Shop Storage	7342	Farm Building	100%	2,304	609	\$34,932			Jun-04	49%	80% \$				
Shop/Storage	3863	Farm Building	100%	2,100		\$81,030			Jun-04	85%	80% \$		*	\$ -	
Shop/Storage	3962	Farm Building	100%	2,430	4064	\$93,764			Jun-04	89%	80% \$			\$ -	
Shop-Machine Storage	3841	Farm Building	100%	2,882		\$113,518			Jun-04	49%	80% \$				
Silo	3943	Farm Building	100%	154		\$5,942	100000000000000000000000000000000000000		Jun-04	49%	80% \$			NAME AND ADDRESS OF TAXABLE PARTY OF TAXABLE PARTY.	
Softball Dugouts	5125	Physical Education	100%	255		\$27,287			Jun-04	49%	85% \$				
Softball Scorers Box	5126	Physical Education	100%	95		\$3,581	-		Jun-04	49%	85% \$			The second liverage of	
Solar Energy House 1	3577	Engineering	100%	4,558		\$598,410			Jun-04	77%	85% \$				
Solar Energy House 2	3579	Engineering	100%	3,626		\$476,050			Jun-04	73%	85% \$				
Solar Energy House 3	3580	Engineering	100%	3,630		\$476,575			Jun-04	70%	85% \$			The second secon	
Solar Greenhouse	3581	Science	100%	1,393		\$148,970			Jun-04	34%	85% \$				
Solids Separator	3452	Farm Building	100%	400		\$14,565	-		Jun-04	49%	80% \$			THE RESERVE OF THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAME	
South Classroom	3765	Classroom	100%	1,508		\$158,376			Jun-04	74%	85% \$				
Spruce Hall	3238	Office	100%	18,738		\$1,721,886			Jun-04	87%	85% \$			\$ -	
Stallion Barn	3645	Farm Building	100%	5,167		\$135,815			Jun-04	49%	80% \$				
Stallion Barn		Science	100%	3,612		\$254,460	2002		Jun-04	100%	85% \$	-	\$ -	\$ -	

Building Name	Div. Of Risk	Occupancy Type	Funding %	G.S.F.	Vacant / Not	C.R.V.	ate	Date	Date of	F.C.I.	F.C.I.	CRV x (1-	CRV X (1-	A/DET-T/DET =	
	Man. No.				Utilized G.S.F.		Built	Acquired		(Actual) A/FCI	(Target) T/FCI	A/FCI) = A/DET	T/FCI) = T/DET		Projects
Stallion Laboratory	3639	Farm Building	100%	4,649		\$425,499	1979		Jun-04	85%	80%		\$ -	\$ -	
Stallion Pen	3646	Farm Building	100%	2,672		\$77,395			Jun-04	49%	80%	Water and the same of the same of	-		
Stallion Pens	3643	Farm Building	100%	1,534		\$40,321			Jun-04	49%	80%	TO THE OWNER OF THE OWNER OWNER OF THE OWNER OWN		\$ 12,500	
Stallion Pens	3644	Farm Building	100%	848		\$22,290			Jun-04	49%	80%				
Statistics	3221	Office	100%	25,528		\$4,136,449			Jun-04	87%	85%		\$ 4,456	\$ 6,910	
Stock Judging Pav.	3311	Science	100%	9,376		\$615,393			Jun-04	82%	85%			\$ 20.554	
Storage	3555	Farm Building	100%	1,037		\$19,040			Jun-04	34%	80%				
Storage	3821	Farm Building	100%	287		\$5,270	Andrew States and		Jun-04	49%	80%	The state of the s			
Storage	3453	Farm Building	100%	2,125		\$33,431			Jun-04	49%	80% 5				
Storage	3451	Farm Building	100%	2,125		\$33,431			Jun-04	49%	80%		-1	The state of the s	
Storage		Farm Building	100%	2,125		\$33,431			Jun-04	49%	80% \$				
Storage	3820	Farm Building	100%	3,248		\$127,935			Jun-04	49%	80% \$	The same of the sa			
Storage		Farm Building	100%	1,579		\$41,504			Jun-04	49%	80% \$				
Storage		Farm Building	100%	402		\$10,567			Jun-04	49%	80% \$				
Storage		Farm Building	100%	5,201		\$273,215			Jun-04	75%	80% \$				
Storage		arm Building	100%	1,031		\$27,100			Jun-04	49%	80% \$				
Storage		arm Building	100%	1,510		\$99,109			Jun-04	49%	80% \$				
Storage		arm Building	100%	86		\$1,896			Jun-04	49%	80% \$	The same of the sa			
Storage		arm Building	100%	2,894		\$76,069			Jun-04	95%	80% \$		\$ -	•	
Storage		arm Building	100%	2,268		\$52,919			Jun-04	49%	80% \$			-	
Storage		Farm Building	100%	4,766		\$203,220			Jun-04	49%	80% \$	THE RESERVE AND ADDRESS OF THE PARTY OF THE			
Storage		arm Building	100%	2,045		\$87,196	-		Jun-04	49%	80% \$				
Storage	-	arm Building	100%	407		\$2,640			Jun-04	49%	80% \$				
Storage	3545 F	arm Building	100%	5,419		\$35,154			Jun-04	49%	80% \$				
Storage		arm Building	100%	176		\$1,142			Jun-04	49%	80% \$			+ .01000	
Storage		arm Building	100%	264		\$2,543			Jun-04	49%	80% \$				
Storage Barn		arm Building	100%	1,008		\$14,240			Jun-04	49%	80% \$				
Storage Building		arm Building	100%	402		\$7,381			Jun-04	49%	80% \$				
Storage Shed		arm Building	100%	885		\$34,149			Jun-04	49%	80% \$	-1			
Storage Shed		arm Building	100%	145		\$5,595			Jun-04	49%	80% \$				
Storage Shed		arm Building	100%	164		\$4,527			Jun-04	49%	80% \$				
Storage Shed		arm Building	100%	164		\$4,527			Jun-04	49%	80% \$				
Storage Shed		arm Building	100%	153		\$27,402			Jun-04	49%	80% \$				
Storage Shed		arm Building	100%	161		\$2,916			Jun-04	34%	80% \$				
Student Services	3254 (100%	36,243		\$3,330,600			Jun-04	75%	85% \$				
Supplementation Barn		arm Building	100%	2,688		\$16,168			Jun-04	49%	80% \$				
Supplies Storage		arm Building	100%	208		\$16,383			Jun-04	49%	80% \$				
Surgical Annex		Science	100%	3,564		\$327,511			Jun-04	79%	85% \$				
Swine Confinement		arm Building	100%	2,458		\$151,369			Jun-04	83%	80% \$			\$ 19,051	
Swine Units		arm Building	100%	1,080		\$40,000			Jun-04	95%	80% \$		•	\$ -	
Swine Units		arm Building	100%	812		\$40,000			Jun-04	95%	80% \$				
Tack Room		arm Building	100%	86		\$1,579			Jun-04	49%	80% \$		\$ - \$ 316		
Tank		arm Building	100%	472		\$3,239		7	Jun-04	49%	80% \$			-	
Tennis Court Storage		Physical Education	100%	45		\$2,127			Jun-04	49%	85% \$	1,085			
Tool Shed		arm Building	100%	121		\$4,669			Jun-04	49%	80% \$	2,381			
Trailer	3594 8		100%	164		\$2,659			Jun-04 Jun-04	49%	85% \$	1,356			
Trailer Office	3551 0		100%	222		\$11,662			Jun-04 Jun-04	59%					
Turbine Pumphouse	7176 S		100%	559		\$34,878			Jun-04 Jun-04	49%	85% \$	4,781			
Jniv. Greenhouses	3302 S		100%	42,614		\$3,915,917			Jun-04 Jun-04	51%	85% \$	17,788 1,932,113			

10 of 30

Building Name	Div. Of Risk	Occupancy Type	Funding %	G.S.F.	Vacant / Not	C.R.V.	ate	Date	Date of	F.C.I.	F.C.I.	CRV x (1-	CRV X (1-	A/DET-T/DET =	Design
	Man. No.				Utilized G.S.F.		Built	Acquired	Facility Audit	(Actual) A/FCI	(Target) T/FCI	A/FCI) = A/DET	T/FCI) = T/DET	Targeted Backlog	Projects
University Square # 1311	7221	Office	100%	16,575		\$1,392,015			Jun-04	74%	85%				
Utility Building	8013	Farm Building	100%	930		\$145,360	1995		Jun-04	94%	80%	\$ -	\$ -	\$ -	
Utility Storage	3846	Farm Building	100%	3,055		\$132,635	1956		Jun-04	83%	80%	\$ -	\$ -	\$ -	
Vehicle Maintenance	3314	Physical Plant Service	100%	1,860		\$62,835	1984		Jun-04	59%	85%	\$ 25,762	\$ 9,425	\$ 16,337	
Vehicle Shed	3857	Farm Building	100%	1,261		\$35,872	1983		Jun-04	49%	80%	\$ 18,295	\$ 7,174	\$ 11,120	
Vehicle Wash	3321	Physical Plant Service	100%	836		\$32,924	1964		Jun-04	59%	85%	\$ 13,499	\$ 4,939	\$ 8,560	
Vet. Teaching Hosp.	3445	Hopital or Infirmay	100%	137,233		\$20,212,421	1979		Jun-04	78%	90%	\$ 4,365,883	\$ 2,021,242	\$ 2,344,641	
Visitors Center	7220	Other Academic Facility	100%	5,688		\$505,391	1991		Jun-04	74%	85%	\$ 131,402	\$ 75,809	\$ 55,593	
Visual Arts	3341	Fine Arts	100%	91,997		\$7,884,584	1973		Jun-04	78%	85%	\$ 1,762,993	\$ 1,182,688	\$ 580,305	
Viticulture Pmphouse	7343	Farm Building	100%	124		\$2,309	1971		Jun-04	49%	80%	\$ 1,177	\$ 462	\$ 716	
Vocational Education	3251	Office	100%	11,491		\$1,061,460	1910		Jun-04	97%	85%	\$ -	\$ -	\$ -	
VTH - Feed Storage	7940	Farm Building	100%	140		\$1,199	1998		Jun-04	49%	80%	\$ 612	\$ 240	\$ 372	
Water Treatment Pump House	8825	Physical Plant Service	100%	300		\$80,000	2000		Jun-04	95%	95%	\$ -	\$ -	\$ -	V - 41 1 1 1
Weather Station		Science	100%	350		\$36,759	1989		Jun-04	78%	85%	\$ 8,069	\$ 5,514	\$ 2,555	
Weed Research Laboratory		Science	100%	17,329		\$1,592,409	1964		Jun-04	72%	85%	\$ 447,626	\$ 238,861	\$ 208,765	
Well House	3976	Farm Building	100%	71		\$2,740	1950		Jun-04	34%	80%	\$ 1,808	\$ 548	\$ 1,260	
Well House	5183	Farm Building	100%	30		\$772	2001		Jun-04	74%	80%	\$ 201	\$ 154	\$ 46	
West Hangar	3512	Physical Plant Service	100%	4,870		\$255,827	1941		Jun-04	84%	85%	\$ 41,700	\$ 38,374	\$ 3,326	
West Office	3560		100%	11,317		\$757,884	1964		Jun-04	69%	85%	\$ 234,944	\$ 113,683	\$ 121,261	
West Valve House	7177	Science	100%	194		\$14,525	1991		Jun-04	49%	85%	\$ 7,408	\$ 2,179	\$ 5,229	
Willard O. Eddy Hall	3308	Classroom	100%	69,457		\$6,382,486	1963		Jun-04	80%	85%	\$ 1,304,580	\$ 957,373	\$ 347,207	
Winter Research Lab	3806	Science	100%	2,733		\$322,913	1967		Jun-04	74%	85%	\$ 83,957	\$ 48,437	\$ 35,520	
Workshop	3563	Physical Plant Service	100%	3,369		\$106,134	1963		Jun-04	69%	85%	\$ 32,902	\$ 15,920	\$ 16,981	
Workshop	3559	Physical Plant Service	100%	3,216		\$137,126	1980		Jun-04	64%	85%	\$ 49,365	\$ 20,569	\$ 28,797	
		(20) Totals of GS	F & CRV (Gen)	5,426,715	180,548	\$ 654,089,983					(21) Building Estir	nated Backlog=	\$ 54,469,421	Add to the last
												(22) Code	Compliance Esti	imated Backlog=	\$ -
											(23) Total	Estimated Idea	ntified Backlog=	\$ 54,469,421	
A > /:!! > !> /	2264	Apartment Building	0%	2,568		\$168,550	1061		Jun-04	88%	85%	s -	\$ -	s -	
Aggie Vill North 1		Apartment Building	0%	8,264		\$542,407			Jun-04	88%	85%			\$ -	
Aggie Vill North 10		Apartment Building	0%	8,264		\$542,407			Jun-04	88%	85%		*	\$ -	
Aggie Vill North 11			0%	135		\$8,861			Jun-04	88%	85%		-	\$ -	
Aggie Vill North 11s		Apartment Building	0%	8,264		\$542,407			Jun-04	88%	85%			\$ -	
Aggie Vill North 12		Apartment Building	0%	135		\$8,861			Jun-04	88%	85%		-	\$ -	
Aggie Vill North 12s		Apartment Building Apartment Building	0%	8,264		\$542,407			Jun-04	88%	85%		Y	\$ -	
Aggie Vill North 13		1	0%	2,568		\$168,550			Jun-04	88%	85%		-	\$ -	
Aggie Vill North 14		Apartment Building	0%	2,568		\$168,550			Jun-04	88%	85%		-	\$ -	
Aggie Vill North 15		Apartment Building	0%	8,264		\$542,407			Jun-04	88%	85%		T	\$ -	
Aggie Vill North 16		Apartment Building	0%	2.568		\$168,550			Jun-04	88%	85%		7	\$ -	
Aggie Vill North 17		Apartment Building	0%	8,264		\$542,407			Jun-04 Jun-04	88%	85% \$			\$ -	
Aggie Vill North 2		Apartment Building	0%	2,568		\$168,550			Jun-04 Jun-04	88%	85% \$			\$ -	
Aggie Vill North 3		Apartment Building	0%	8,264		\$542,407			Jun-04	88%	85% \$			\$ -	
Aggie Vill North 5		Apartment Building	0%	8,264		\$542,407		-	Jun-04 Jun-04	88%	85% \$			\$ -	
Aggie Vill North 6		Apartment Building	0%	135		\$8,861			Jun-04	88%	85% \$		7	\$ -	
Aggie Vill North 6s		Apartment Building				\$542,407			Jun-04 Jun-04	88%	85% \$		-	\$ -	
Aggie Vill North 7		Apartment Building	0%	8,264		\$8,861			Jun-04 Jun-04	88%	85% \$		\$ -	-	
ggie Vill North 7s	-	Apartment Building	0%	135		\$542,430			Jun-04 Jun-04	88%	85% \$		-	\$ -	
aggie Vill North 8		Apartment Building	0%	8,264		\$253,023	-		Jun-04 Jun-04	88%	85% \$		\$ -		
	3372 4	Apartment Building	0%	3,855	35500 81 11	\$200,023	1901		Jun-04	00%	00%		Φ -		
Aggie Vill North 9 Aggie Vill South 18		partment Building	0%	2.559		\$167,960	1004		Jun-04	89%	85% \$		S - !	s -	

Building Name	Div. Of Risk	Occupancy Type	Funding %	G.S.F.	Vacant / Not	C.R.V.	ate	Date	Date of	F.C.I.	F.C.I.	CRV x (1-	CRV X (1-	A/DET-T/DET =	T e
	Man. No.				Utilized G.S.F.		Built	Acquired	Facility Audit	(Actual) A/FCI	(Target) T/FCI	A/FCI) = A/DET	T/FCI) = T/DET	Targeted Backlog	Projects
Aggie Vill South 19	3400	Apartment Building	0%	2,559		\$167,960	1964		Jun-04	89%	85% \$	-	\$ -	\$ -	
Aggie Vill South 20	3401	Apartment Building	0%	8,234		\$540,438			Jun-04	89%	85% \$	-	-	\$ -	
Aggie Vill South 21	3402	Apartment Building	0%	2,559		\$167,960	1964		Jun-04	89%	85% 5		1	\$ -	
Aggie Vill South 22	3403	Apartment Building	0%	8,234		\$540,438			Jun-04	89%	85% \$			\$ -	-
Aggie Vill South 23		Apartment Building	0%	8,234		\$540,438			Jun-04	89%	85% \$	The second secon		\$ -	
Aggie Vill South 24		Apartment Building	0%	3,281		\$215,348			Jun-04	88%	85% \$		Y	\$ -	-
Aggie Vill South 25	3407	Apartment Building	0%	8,234		\$540,438			Jun-04	89%	85% \$		1	\$ -	
Aggie Vill South 26	3408	Apartment Building	0%	8,234		\$540,438			Jun-04	89%	85% \$		1	\$ -	
Aggie Vill South 27		Apartment Building	0%	8,234		\$540,438	- marine		Jun-04	89%	85% \$		-	\$ -	
Aggie Vill South 28	3410	Apartment Building	0%	8,234		\$540,438			Jun-04	89%	85% \$			\$ -	
Aggie Vill South 29	3411	Apartment Building	0%	8.234		\$540,438			Jun-04	89%	85% \$		-	\$ -	-
Aggie Vill South 30	3412	Apartment Building	0%	8,234		\$540,438			Jun-04	89%	85% \$		7	\$ -	-
Aggie Vill South 31		Apartment Building	0%	2,559		\$167,960			Jun-04	89%	85% \$			\$ -	
Aggie Vill South 32		Apartment Building	0%	8,234		\$540,438			Jun-04	89%	85% \$			\$ -	
Aggie Vill South 33		Apartment Building	0%	2,559		\$167,960			Jun-04	89%	85% \$			\$ -	
Aggie Vill South 34		Apartment Building	0%	2.559		\$167,960			Jun-04	89%	85% \$		7	\$ -	
Allison Hall		Dormitory	0%	98,023		\$9,007,733			Jun-04	77%		2,071,779		\$ 720.619	
Aspen		Dormitory	0%	2,160		\$204,687			Jun-04	100%	85% \$			\$ 720,019	-
Blue Spruce	-	Dormitory	0%	2,160		\$204,687			Jun-04	100%	85% \$			\$ -	-
Braiden Hall		Dormitory	0%	110,837		\$10,185,264			Jun-04	86%	85% \$			\$ -	
C.D.C. Laboratory		Science	0%	3,861		\$129,983			Jun-04	74%	85% \$			\$ 14.298	
C.D.C. Storage	-	Farm Building	0%	180		\$2,617			Jun-04	74%	80% \$				
C.D.C. Storage		Farm Building	0%	1,380		\$32,807			Jun-04	74%	80% \$			\$ 1,968	
C.D.C. Storage		Farm Building	0%	256		\$6,086			Jun-04	74%	80% \$				
C.D.C. Storage	-	Farm Building	0%	685		\$16,285			Jun-04	74%	80% \$				
C.D.C. Storage/Lab		Farm Building	0%	729		\$17,331			Jun-04	74%	80% \$.,		\$ 1.040	
C.D.CCenter for Disease Contro	-	Science	0%	41,565		\$10,913,540			Jun-04	75%			\$ 1,637,031		
Cabin		Single Family Dwelling	0%	407		\$23,725			Jun-04	100%	85% \$			\$ 1,002,979	
Cabin		Single Family Dwelling	0%	443		\$25,824			Jun-04	100%	85% \$		-	\$ -	
Cabin		Single Family Dwelling	0%	410		\$23,900			Jun-04	100%	85% \$			\$ -	
CDC Modular		Science	0%	5,312		\$111,163			Jun-04	74%	85% \$		\$ 16.674		
CDC Modular		Science	0%	4,427		\$94,694			Jun-04	74%	85% \$				
Cinquefoil		Dormitory	0%	2,160		\$204,687			Jun-04	100%	85% \$			\$ 10,410	
Columbine		Dormitory	0%	1,536		\$84,686			Jun-04	100%	85% \$	-		\$ -	
Corbett Hall		Dormitory	0%	223,334		\$20,523,072			Jun-04	88%	85% \$			\$ -	
Custodial Storage		Physical Plant Service	0%	343		\$22,513			Jun-04	94%	85% \$	-		s -	
Dining Hall		Other Auxiliary Facility	0%	5.297		\$558,299			Jun-04	99%	85% \$	-		\$ -	
Durrell Center		Dormitory	0%	46,226		\$4,854,667			Jun-04	82%	85% \$	873,840			
Durward Hall		Dormitory	0%	104,898		\$11,016,415	THE RESERVE TO A SECOND		Jun-04	91%	85% \$	-	\$ - 5		
Dwelling 10		Single Family Dwelling	0%	4,193		\$202,234			Jun-04	59%	85% \$	82,916			
Dwelling 13		Single Family Dwelling	0%	1,581		\$76,255			Jun-04	59%	85% \$	31,265			
Dwelling 14		Single Family Dwelling	0%	2,381		\$114,841	-		Jun-04	59%	85% \$	47,085			
Dwelling 15	CATCHER PRODUCTION OF THE PARTY	Single Family Dwelling	0%	2,314		\$111,610			Jun-04	59%	85% \$	45,760			
Dwelling 18		Single Family Dwelling	0%	2,604		\$125,597			Jun-04	59%	85% \$	51,495			
Dwelling 19		Single Family Dwelling	0%	4,470		\$233,896			Jun-04	59%	85% \$	95,897			
Edwards Hall		Dormitory	0%	98,023		\$9,007,733			Jun-04	78%			\$ 1,351,160 \$		
Ellis Hall		Dormitory	0%	86,198		\$7,921,086			Jun-04	70%	85% \$		\$ 1,188,163 \$		
ENSR		Engineering	0%	20,079		\$2,276,705		7	Jun-04	85%	85% \$		\$ - \$		-
Faculty Cabin #2		Single Family Dwelling	0%	957		\$75,378			Jun-04	93%	85% \$	-	\$ - \$		

Building Name	Div. Of Risk	Occupancy Type	Funding %	G.S.F.	Vacant / Not	C.R.V.	ate	Date	Date of	F.C.I.	F.C.I.	CRV x (1-	CRV X (1-	A/DET-T/DET =	e
	Man. No.				Utilized		Built	Acquired	Facility Audit	(Actual)	(Target)	A/FCI) =	T/FCI) = T/DET	Targeted	Projects
					G.S.F.					A/FCI	T/FCI	A/DET		Backlog	
Faculty Cabin #3	3747	Single Family Dwelling	0%	957		\$75,378	1939		Jun-04	80%	85%	\$ 15,076	\$ 11,307	\$ 3,769	
Faculty Cabin #4	3748	Single Family Dwelling	0%	749		\$58,995	1948		Jun-04	96%	85%	\$ -	\$ -	\$ -	
Faculty Cabin #5	3749	Single Family Dwelling	0%	957		\$75,378	1939		Jun-04	90%	85%	\$ -	\$ -	\$ -	
Faculty Cabin #6	3750	Single Family Dwelling	0%	637		\$25,091	1972		Jun-04	89%	85%	\$ -	\$ -	\$ -	
Faculty Cabin #8	5147	Single Family Dwelling	0%	768		\$107,002	1996		Jun-04	100%	85%	5 -	\$ -	\$ -	
Faculty Cabin #9	5148	Single Family Dwelling	0%	768		\$107,002	1996		Jun-04	100%	85%	5 -	\$ -	\$ -	
Faculty Cabin No. 1	3745	Single Family Dwelling	0%	957		\$75,378	1939		Jun-04	77%	85%	17,337	\$ 11,307	\$ 6,030	
Faculty Washhouse	3756	Farm Building	0%	427		\$44,844	1951		Jun-04	80%	80% \$	-	\$ -	\$ -	
General Services Bld	3287	Office	0%	74,907		\$9,877,477	1948		Jun-04	72%	85% 3	2,741,000	\$ 1,481,622	\$ 1,259,378	
Grounds Shop	3775	Physical Plant Service	0%	347		\$18,228	1950		Jun-04	100%	85% \$	5 -	\$ -	\$ -	
Hartshorn Health Center (HHC)	3207	Hopital or Infirmay	0%	39,169		\$5,165,415	1964		Jun-04	78%	90% \$	1,115,730	\$ 516,542	\$ 599,188	
Helmshire Hall		Dormitory	0%	22,531		\$2,630,494	2002		Jun-04	74%	85% 3			\$ 289,354	
Hotchkiss Lodge	3807	Dormitory	0%	4,681		\$327,602	1975		Jun-04	99%	85% \$	-	\$ -	\$ -	
Housing Services Center	-	Physical Plant Service	0%	14,675		\$963,233	1974		Jun-04	97%	85% \$	5 -	\$ -	\$ -	
Housing Warehouse		Physical Plant Service	0%	40,600		\$1,815,382	1997		Jun-04	94%	85% 5		\$ -	\$ -	
Ingersoll Hall		Dormitory	0%	98,802		\$9,079,319	1964		Jun-04	70%	85% \$	2,723,796	\$ 1,361,898	\$ 1,361,898	
Intermural Field First Aid/Storage		Physical Education	0%	776		\$11,353	1997		Jun-04	58%	85% \$				
Intermural Field Restrooms		Physical Education	0%	558		\$100,298	1997		Jun-04	58%	85% \$				
International House	-	Apartment Building	0%	98.038		\$6,428,947	1994		Jun-04	95%	85% \$			\$ -	
KCSU Transmitter		Other Auxiliary Facility	0%	49		\$6,973	1966		Jun-04	74%	85% \$		\$ 1,046	\$ 767	
KCSU Transmitter		Other Auxiliary Facility	0%	145		\$12,850			Jun-04	74%	85% \$			A STATE OF THE PARTY OF THE PAR	
Kinnikinnik		Dormitory	0%	2,160		\$204,687			Jun-04	100%	85% \$			\$ -	
Koenig Homestead		Single Family Dwelling	0%	1,548		\$90,238			Jun-04	100%	85% \$			\$ -	
Lockman Residence		Single Family Dwelling	0%	3,118		\$237,422	-		Jun-04	74%	85% \$			\$ 26,116	
Lodgepole	5158	Dormitory	0%	2,160		\$204,687	1996		Jun-04	100%	85% \$			\$ -	
Lory North		Dormitory	0%	34,638		\$3,183,027			Jun-04	81%	85% \$			\$ 127,321	
Lory South		Dormitory	0%	34,638		\$3,183,027	-		Jun-04	81%	85% \$				
Natural Rescource Research Cer		Office	0%	123,253		\$11,767,754			Jun-04	99%	85% \$			\$ -	
Natural Rescource Research Cen		Office	0%	121,012		\$13,894,584	-		Jun-04	99%	85% \$	-		\$ -	
Newsom Hall		Dormitory	0%	104,510		\$9,603,850			Jun-04	63%	85% \$	3,553,425	\$ 1,440,578	\$ 2,112,847	
North Dormitory		Dormitory	0%	5.282		\$464,739			Jun-04	100%	85% \$			\$ -	
North Residence		Single Family Dwelling	0%	2,301		\$110,983	1957		Jun-04	49%	85% \$	56,601	\$ 16,647	\$ 39,954	
Nurses Cabin		Single Family Dwelling	0%	341		\$13,432	1939		Jun-04	85%	85% \$	-	\$ -	\$ -	
Outhouse		Other Auxiliary Facility	0%	50		\$1,761	1996		Jun-04	97%	85% \$	-	\$ -	\$ -	
Outhouse		Farm Building	0%	80		\$4,161	1996		Jun-04	74%	80% \$	1,082	\$ 832	\$ 250	
Outhouse		Farm Building	0%	50		\$20,419	1999		Jun-04	100%	80% \$	-	\$ -	\$ -	
Paintbrush		Dormitory	0%	2,160		\$204,687	1996		Jun-04	100%	85% \$	-	\$ -	\$ -	
Palmer Center		Dormitory	0%	17.671		\$1,855,813	1967		Jun-04	94%	85% \$	-	\$ -	\$ -	
Parmelee Hall		Dormitory	0%	111,034		\$10,203,367	1962		Jun-04	81%	85% \$	1,938,640	\$ 1,530,505	\$ 408,135	
Pingree Park Multipurpose Classi		Classroom	0%	3,910		\$307,968			Jun-04	97%	85% \$			\$ -	
Pump House		Farm Building	0%	66		\$1,735			Jun-04	100%	80% \$	-	\$ -	\$ -	
Recreation Hall		Student Center	0%	2,055		\$134,880			Jun-04	92%	85% \$		\$ -	\$ -	
Residence		Single Family Dwelling	0%	2,194		\$105,822			Jun-04	49%	85% \$				-
Residence		Single Family Dwelling	0%	2,414		\$116,433			Jun-04	49%	85% \$	59,381			
Residence		Single Family Dwelling	0%	1,214		\$58,554			Jun-04	49%	85% \$	29,863			
Residence		Single Family Dwelling	0%	2,042		\$160,837	-		Jun-04	59%	85% \$	65,943			
S. Aggie Mail Kiosk		Other Auxiliary Facility	0%	109		\$18,716	-		Jun-04	89%	85% \$		\$ - !	THE RESERVE AND ADDRESS OF THE PARTY OF THE	
South Dormitory		Dormitory	0%	4,382		\$345,146			Jun-04	68%	85% \$	110,447			
South Residence		Single Family Dwelling	0%	2,356		\$113,636			Jun-04	49%	85% \$	57,954			

Building Name	Div. Of Risk Man. No.	Occupancy Type	Funding %	G.S.F.	Vacant / Not Utilized G.S.F.	C.R.V.	ate	Date Acquired	Date of Facility Audit	F.C.I. (Actual) A/FCI	F.C.I. (Target) T/FCI	CRV x (1- A/FCI) = A/DET	CRV X (1- T/FCI) = T/DET	A/DET-T/DET = Targeted Backlog	Projects
Staff Cabin	5151	Single Family Dwelling	0%	2,792		\$296,380	1996		Jun-04	100%	85% \$	-	\$ -	\$ -	
Staff Duplex Cabin - A & B		Single Family Dwelling	0%	1,522		\$237,787	1966		Jun-04	100%	85% \$		\$ -	\$ -	
Staff Duple x Cabin - A & B	5146	Single Family Dwelling	0%	1,522		\$237,787	1996		Jun-04	100%	85% \$		\$ -	\$ -	
Storage	3816	Farm Building	0%	576		\$9,069	1984		Jun-04	64%	80% \$		-	\$ 1,451	-
Storage Building	3763	Farm Building	0%	255		\$5,950	1972		Jun-04	100%	80% \$		\$ -	\$ -	
Storage Building	3758	Farm Building	0%	175		\$4,083	1972		Jun-04	100%	80% \$		\$ -	\$ -	
Storage Building	3757	Farm Building	0%	306		\$7,140	1972	100	Jun-04	100%	80% \$	-	\$ -	\$ -	
Student Cabin	3790	Single Family Dwelling	0%	356		\$14,020	1938		Jun-04	70%	85% \$	4,206			
Student Cabin	3803	Single Family Dwelling	0%	347		\$13,666	1949	The state of the s	Jun-04	69%	85% \$			The same of the sa	
Student Cabin		Single Family Dwelling	0%	347		\$13,666	1949		Jun-04	60%	85% \$	The second secon	The state of the s		
Student Cabin	3801	Single Family Dwelling	0%	347		\$13,666	1949		Jun-04	69%	85% \$				
Student Calbin	3800	Single Family Dwelling	0%	347		\$13,666	1949		Jun-04	69%	85% \$				
Student Cabin		Single Family Dwelling	0%	347		\$13,666	1949		Jun-04	69%	85% \$				
Student Cabin		Single Family Dwelling	0%	347		\$13,666	1949		Jun-04	69%	85% \$				
Student Cabin		Single Family Dwelling	0%	347		\$13,666	1949		Jun-04	69%	85% \$				
Student Cabin	3796	Single Family Dwelling	0%	347		\$13,666	1949		Jun-04	69%	85% \$				
Student Cabin	3795	Single Family Dwelling	0%	347		\$13,666	1949		Jun-04	69%	85% \$				
Student Cabin	3794	Single Family Dwelling	0%	347	The state of the s	\$13,666	1949		Jun-04	69%	85% \$				
Student Cabin	3793	Single Family Dwelling	0%	347		\$13,666	1949		Jun-04	69%	85% \$				
Student Cabin	3792	Single Family Dwelling	0%	347		\$13,666	1949		Jun-04	69%	85% \$				
Student Cabin	3805	Single Family Dwelling	0%	326		\$12,839	1955		Jun-04	57%	85% \$	5,521			
Student Cabin	3804	Single Family Dwelling	0%	347		\$13,666	1955		Jun-04	60%	85% \$	5,466	\$ 2,050		
Student Cabin	3782	Single Family Dwelling	0%	340		\$13,392	1956		Jun-04	93%	85% \$			\$ -	
Student Cabin	3781	Single Family Dwelling	0%	340		\$13,392	1956		Jun-04	93%	85% \$		-	S -	
Student Cabin	3780	Single Family Dwelling	0%	340		\$13,392	1956		Jun-04	93%	85% \$	_	T	s -	
Student Cabin	3779	Single Family Dwelling	0%	340		\$13,392	1956		Jun-04	93%	85% \$	-	\$ -	s -	
Student Cabin	3784	Single Family Dwelling	0%	353		\$13,904	1957		Jun-04	94%	85% \$	-	-	\$ -	
Student Cabin	3783	Single Family Dwelling	0%	340		\$13,392	1957		Jun-04	93%	85% \$	-		\$ -	
Student Cabin	3786	Single Family Dwelling	0%	353		\$13,904	1958		Jun-04	92%	85% \$	-		\$ -	
Student Cabin	3785	Single Family Dwelling	0%	353		\$13,904	1958		Jun-04	92%	85% \$	-	\$ -	\$ -	
Student Cabin	3791	Single Family Dwelling	0%	356		\$14,020	1960		Jun-04	70%	85% \$	4,206	\$ 2,103	\$ 2,103	
Student Center	3213	Student Center	0%	295,488		\$38,793,971	1961		Jun-04	78%	85% \$			\$ 2,715,578	
Student Rec. Center	5004	Physical Education	0%	90,804		\$19,664,718	1989		Jun-04	85%	85% \$			\$ -	
Student Washhouse	3789	Other Auxiliary Facility	0%	1,406		\$55,372	1950		Jun-04	100%	85% \$	-	S -	\$ -	
The Cave	3769	Student Center	0%	146		\$5,751	1923		Jun-04	68%	85% \$	1,840	\$ 863	\$ 978	
Thurman "Fum" McGraw Athletic	5161	Office	0%	26,512		\$3,207,561	1999		Jun-04	96%	85% \$	-		\$ -	
Ticonderoga Cabin	3774	Single Family Dwelling	0%	344		\$13,550	1961		Jun-04	93%	85% \$	-	\$ -	\$ -	
Univ Village East 1	3470	Apartment Building	0%	10,764		\$621,615	1968		Jun-04	84%	85% \$	99,458			
Univ Village East 10	3479	Apartment Building	0%	6,151		\$355,217	1968		Jun-04	84%	85% \$	56,835			
Univ Village East 11	3480	Apartment Building	0%	7,689		\$444,035	1968		Jun-04	84%	85% \$	71,046	\$ 66,605	\$ 4,440	
Univ Village East 12	3481	Apartment Building	0%	9,441		\$545,212	1968		Jun-04	84%	85% \$	87,234			
Univ Village East 13	3482	Apartment Building	0%	9,227		\$532,854	1968		Jun-04	84%	85% \$	85,257			30723
Univ Village East 14	3483	Apartment Building	0%	6,366		\$367,633	1968	7,477	Jun-04	84%	85% \$	58,821			
Univ Village East 15	3484	Apartment Building	0%	9,227		\$532,854	1968		Jun-04	84%	85% \$	85,257			
Univ Village East 2	3471	Apartment Building	0%	9,227		\$532,854	1968		Jun-04	84%	85% \$	85,257			
Univ Village East 3	3472	Apartment Building	0%	6,401	7 1	\$369,654			Jun-04	84%	85% \$	59,145			
Univ Village East 4		Apartment Building	0%	6,151		\$355,217	1968		Jun-04	84%	85% \$	56,835			
Univ Village East 5		Apartment Building	0%	6,151		\$355,217			Jun-04	84%	85% \$	56,835			
Univ Village East 6		Apartment Building	0%	12,302		\$710,433			Jun-04	84%	85% \$	113,669			

14 of 30

Building Name	Div. Of Risk Man. No.	Occupancy Type	Funding %	G.S.F.	Vacant / Not Utilized G.S.F.	C.R.V.	ate Built	Date Acquired	Date of Facility Audit	F.C.I. (Actual) A/FCI	F.C.I. (Target) T/FCI	CRV x (1- A/FCI) = A/DET	/ X (1- = T/DET	A/DET-T/DET = Targeted Backlog	Projects
Univ Village East 7	3476	Apartment Building	0%	6,366		\$367,633			Jun-04	84%	85%	\$ 58,821	\$ 55,145	\$ 3,676	
Univ Village East 8	3477	Apartment Building	0%	10,764		\$621,615	1968		Jun-04	84%	85%	\$ 99,458	\$ 93,242	\$ 6,216	
Univ Village East 9	3478	Apartment Building	0%	2,262		\$130,629	1968		Jun-04	87%	85%	\$ -	\$ -	\$ -	
Univ Village West 16	3485	Apartment Building	0%	6,572		\$379,529	1974		Jun-04	95%	85%	\$ -	\$ - 1	\$ -	
Univ Village West 17	3486	Apartment Building	0%	6,543		\$377,854	1974		Jun-04	95%	85%	\$ -	\$ -	\$ -	
Univ Village West 18	3487	Apartment Building	0%	8,171		\$471,870	1974		Jun-04	95%	85%	\$ -	\$ -	\$ -	
Univ Village West 19	3488	Apartment Building	0%	11,896		\$686,987	1974		Jun-04	95%	85%	\$ -	\$ 	\$ -	
Univ Village West 20	3489	Apartment Building	0%	11,891		\$686,698	1974		Jun-04	95%	85%	\$ -	\$ -	\$ -	
Univ Village West 21	3490	Apartment Building	0%	6,553		\$378,432	1974		Jun-04	95%	85%	\$ -	\$ -	\$ -	
Univ Village West 22	3491	Apartment Building	0%	4,915		\$283,838	1974		Jun-04	95%	85%	\$ -	\$ -	\$ -	
Univ Village West 23	3492	Apartment Building	0%	8,179		\$472,332	1974		Jun-04	95%	85%	\$ -	\$ -	\$ -	
Univ Village West 24	3493	Apartment Building	0%	9,825		\$567,388	1974		Jun-04	95%	85%	\$ -	\$ -	\$ -	
Univ Village West 25	3494	Apartment Building	0%	9,836		\$568,023	1974		Jun-04	95%	85%	\$ -	\$ -	\$ -	
Univ Village West 26	3495	Apartment Building	0%	11,887		\$686,467	1974		Jun-04	95%	85%	\$ -	\$ -	\$ -	
Univ Village West 27	3496	Apartment Building	0%	11,468		\$662,270	1974		Jun-04	95%	85%	\$ -	\$ -	\$ -	
Univ Village West 28	3497	Apartment Building	0%	11,459		\$661,751	1974		Jun-04	95%	85%	\$ -	\$ -	\$ -	
Univ Village West 29	3498	Apartment Building	0%	8,616		\$497,569	1974		Jun-04	95%	85%	5 -	\$ -	\$ -	
Univ Village West 30	3499	Apartment Building	0%	8,195		\$473,256	1974		Jun-04	95%	85%	5 -	\$ -	\$ -	
Univ Village West 31	3500	Apartment Building	0%	8,631		\$498,435	1974		Jun-04	95%	85%		\$ -	\$ -	
Univ Village West 32	3501	Apartment Building	0%	9,852		\$568,947	1974		Jun-04	95%	85%	-	\$ -	\$ -	
Univ Village West 33	3502	Apartment Building	0%	11,444		\$660,884	1974		Jun-04	95%	85%	-	\$ -	\$ -	
Univ Village West 34	3503	Apartment Building	0%	8,641		\$794,057			Jun-04	91%	85%		\$ -	\$ -	
University Children's Center	3367	Other Auxiliary Facility	0%	3,083		\$202,352			Jun-04	88%	85%		\$ -	\$ -	
University Village North/West 1	7336	Apartment Building	0%	8,259		\$589,322			Jun-04	94%	85%		\$ -	\$ -	
University Village North/West 2	7337	Apartment Building	0%	8,259		\$589,322			Jun-04	94%	85% \$		\$ -	\$ -	
University Village North/West 3	7338	Apartment Building	0%	8,259		\$589,322			Jun-04	94%	85% \$	The second secon	\$ -	\$ -	
University Village North/West 4	7339	Apartment Building	0%	8,259		\$589,322			Jun-04	94%	85% \$		\$ -	\$ -	
University Village North/West 5	7328	Apartment Building	0%	8,259		\$589,322			Jun-04	94%	85% \$		\$	\$ -	
University Village North/West 6	7329	Apartment Building	0%	8,259		\$589,322			Jun-04	94%	85% \$		\$	\$ -	
University Village North/West 7	7340	Apartment Building	0%	8,259		\$589,322			Jun-04	94%	85% \$		\$	\$ -	
University Village North/West 8	7937	Apartment Building	0%	8,259		\$589,322			Jun-04	94%	85% \$		\$ 	\$ -	
Westfall Hall	3190	Dormitory	0%	104,898		\$11,016,415	1967		Jun-04	94%	85% \$	-	\$ -	\$ -	
		(24) Totals of G	SF & CRV (Aux)	2,965,797	0 5	291,230,734	100								

(17) Current CC		(19) Current EM
Current CC	Current CM	Current EM
Projects	Projects	Projects
	1000	

No.	Current CC Projects	Cul M Projects	Current EM Projects
	Projects	Frojects	Frojects
3			
-			
1			
1			
-			
ŀ			
1			
I			
F			
l			
H			
ŀ			
F			
H			
I			
ŀ			
H			
L			
-			
-			
-			
-			
			The Party of the P

Current CC	Cul. M	Current EM
Projects	Projects	Projects
-		
	-	
-		
		6 399
	2011	
		The second
E STATE OF THE STA		

	Current CC	Cun. M	Current EM
	Projects	Projects	Projects
			-
			-
			-
ì			
ì			
i			
ı			
ı			
ı			
ı			
I			
İ			
l			
ŀ			
ŀ			
ŀ			
ŀ			
ŀ			
ŀ			
-			
ŀ			
ĺ			
ĺ			
ĺ			
ĺ			
ĺ			
ĺ			

Current CC Projects	Cul M Projects	Current EM Projects				
-						
	TO THE REAL PROPERTY.	TALES TO STATE OF STATE OF				

Current CC Projects	Cu CM Projects	Current EM Projects

	Current CC	Cun CM	Current EM
	Projects	Projects	Projects
	110,000	110,000	110,000
			-
			-
ı			
9			
1			
1			
١			
1		7.0	
1			
1			
1			
ł			
ı			
١			
I			
ł			
ŀ			
1			
1			
I			
1			
1			
1			
1			
1			
1			
1			
1			
1			
ı			
1			
1			
1			
1			
1			
1			
1			
1			
1			
1			
1			
L			

Current CC Projects	Cu. M Projects	Current EM Projects

23 of 30

Current CC Projects	Projects M	Current EM Projects

Building Inventory

9/12/2005

Current CC Projects	Cul M Projects	Current EM Projects
00055	M-05 FY2006/	2007

SBREP CM-05 FY2006/2007

25 of 30

Current CC Projects	Cul	Current EM
Projects	Projects	Projects
	-	
		-

Current CC Projects	Projects	Current EM Projects

Buildingentory

9/12/2005

THE REAL PROPERTY.	Current CC Projects	Cul M Projects	Current EM Projects
The same of			
-			
-			
-			
-			
-			
	SRREP C	M-05 FY2006	/2007

Buildingshoventory

9/12/2005

Current CC Projects	Cu M Projects	Current EM Projects

Building leventory

9/12/2005

-		
Current CC Projects	C. M. Projects	Current EM Projects

a) GSF	b) Expenses \$	c) \$/GSF	
5,348,658	\$9,460,249	\$1.7	77
5,348,658	\$3,806,134	\$0.7	71
11,918,248	\$1,923,461	\$0.1	16
5,408,845	\$8,540,081	\$1.5	58
	5,348,658 5,348,658 11,918,248	5,348,658 \$9,460,249 5,348,658 \$3,806,134 11,918,248 \$1,923,461	5,348,658 \$9,460,249 \$1.7 5,348,658 \$3,806,134 \$0.7 11,918,248 \$1,923,461 \$0.7

STATE SEP 12 300 FED STATE OF THE STATE OF T

